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Question Number : 1 Question Id : 71087010037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087040081. 1
71087040082. 2
71087040083. 3
71087040084. 4

Question Number : 1 Question Id : 71087010037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040081. 1
71087040082 2
71087040083 3
71087040084 4

Question Number : 2 Question Id : 71087010038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3. B and C only
4. D and E only



Options :

71087040085. 1
71087040086. 2
71087040087. 3
71087040088. 4

Question Number : 2 Question Id : 71087010038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040085. 1
71087040086. 2
71087040087 3
71087040088. 4

Question Number : 3 Question Id : 71087010039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A DandE only
4. B, D and E only
Options :
71087040089. 1
71087040090. 2
71087040091. 3
71087040092. 4

Question Number : 3 Question Id : 71087010039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040089. 1
71087040090. 2
71087040091. 3
71087040092. 4

Question Number : 4 Question Id : 71087010040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, B and C only
3. B, Cand D only
4. C, D and E only
Options :
71087040093. 1
71087040094. 2
71087040095. 3
71087040096. 4

Question Number : 4 Question Id : 71087010040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040093. 1
71087040094. 2
71087040095, 3
71087040096. 4

Question Number : 5 Question Id : 71087010041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Methods of estimating the reliability of a|Description
test

I. Administering the test in one session with
A. Test-retest method , 5
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method i
independently

, Ill. Administering the same test to the same
C. Split-half methed , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-LC-IV,D-IlI
JA-IV,B-LC-1LD-|
4 A-IILB-IV,C-LD-I
Options :

71087040097 1
71087040098. 2
71087040099. 3
71087040100. 4

Question Number : 5 Question Id : 71087010041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1L,B-ILC-I,LD-1V
ZA-1,B-1L,C-1V,D-1l
3JA-WV,B-1L,LC-II,LD-1
4 A-LB-IV,C-1,D-I
Options :

71087040097. 1
71087040098. 2
71087040099. 3
71087040100. 4

Question Number : 6 Question Id : 71087010042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087040101. 1
71087040102. 2
71087040103. 3
71087040104. 4

Question Number : 6 Question Id : 71087010042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040101. 1
71087040102. 2
71087040103. 3
71087040104, 4

Question Number : 7 Question Id : 71087010043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087040105. 1

71087040106. 2

71087040107. 3

71087040108. 4

Question Number : 7 Question Id : 71087010043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040105. 1
71087040106. 2
71087040107. 3
71087040108. 4

Question Number : 8 Question Id : 71087010044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A DandE only
4. A B and E only
Options :
71087040109. 1
71087040110. 2
71087040111. 3
71087040112. 4

Question Number : 8 Question Id : 71087010044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040109. 1
71087040110. 2
71087040111, 3
71087040112. 4

Question Number : 9 Question Id : 71087010045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling I. The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

Ill. The k-interval is obtained by N/n and the units

C. Dimensional sampling , . .
are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling IV. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

TA-L,LB-IV,C-11,D-IlI
ZA-ILB-ULC-1L,D-V
JA-IV,B-ILC-MLD-I
4 A-IILB-LC-IV,D-1I
Options :

71087040113. 1
71087040114. 2
71087040115. 3
71087040116. 4

Question Number : 9 Question Id : 71087010045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-L,LB-IV,C-11,D-IlI
ZA-ILB-ULC-1L,D-V
JA-IV,B-ILC-MLD-I
4 A-IILB-LC-IV,D-1I
Options :

71087040113. 1
71087040114. 2
71087040115. 3
71087040116. 4

Question Number : 10 Question Id : 71087010046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040117. 1

71087040118. 2

71087040119. 3

71087040120. 4

Question Number : 10 Question Id : 71087010046 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040117. 1

71087040118. 2

71087040119. 3

71087040120. 4

Sub-Section Number : 2
Sub-Section Id : 710870268
Question Shuffling Allowed : Yes

Question Id : 71087010047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a secially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing goeod. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 71087010048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087040121. 1

71087040122. 2

71087040123. 3

71087040124. 4

Question Number : 12 Question Id : 71087010049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087040125. 1

71087040126. 2

71087040127. 3

71087040128. 4

Question Number : 13 Question Id : 71087010050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087040129. 1

71087040130. 2

71087040131. 3

71087040132. 4

Question Number : 14 Question Id : 71087010051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087040133. 1

71087040134. 2

71087040135. 3

71087040136. 4

Question Number : 15 Question Id : 71087010052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087040137. 1
71087040138. 2
71087040139. 3
71087040140. 4

Question Id : 71087010047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040121. 1

71087040122. 2

71087040123. 3

71087040124. 4

Question Number : 12 Question Id : 71087010049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040125, 1
71087040126 2
71087040127. 3
71087040128. 4

Question Number : 13 Question Id : 71087010050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040129. 1
71087040130. 2
71087040131. 3
71087040132. 4

Question Number : 14 Question Id : 71087010051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040133 1

71087040134, 2

71087040135. 3

71087040136. 4

Question Number : 15 Question Id : 71087010052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040137. 1
71087040138. 2
71087040139, 3
71087040140. 4

Sub-Section Number : 3
Sub-Section Id : 710870269
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087040141. 1
71087040142. 2
71087040143. 3
71087040144. 4

Question Number : 16 Question Id : 71087010053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. HG® JOHAT Galg
4, HT9GH GHOIQR
Options :
71087040141. 1
71087040142, 2
71087040143. 3
71087040144 4

Question Number : 17 Question Id : 71087010054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, D and F only
4. D, Eand Fonly
Options :
71087040145. 1
71087040146. 2
71087040147. 3
71087040148. 4

Question Number : 17 Question Id : 71087010054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



feTRad SUwU 1 THITEE! 59 IR ARG 6 -

A. Sgd el TEdi® 0l
8. Udial a1y fa=ary

c. fera @ a1 guieH
D. aTl H g&Hal

E. B Teal B YGHT
F. Teal &1 YHTAl GGRT
To! faded &1 904 @Y ;

1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aAC, DARF
4. HIAD, E3ARF
Options :
71087040145. 1
71087040146. 2
71087040147. 3
71087040148. 4

Question Number : 18 Question Id : 71087010055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040149. 1

71087040150. 2

71087040151. 3

71087040152. 4

Question Number : 18 Question Id : 71087010055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HTHGYH (A) : T8 HEUF B HHGRI & [ g6 14T aiedl de-i®] & erddl 4 faeiaf
@I Gfehd Hidl a91d

b (R) : SAUF - Sigd Suny qenfiafl 1 g s s car gl
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) TEl & TR (R) TE! T

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087040149. 1

71087040150. 2

71087040151. 3

71087040152. 4

Question Number : 19 Question Id : 71087010056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List I

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group Il Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

71087040153. 1
71087040154. 2
71087040155. 3
71087040156. 4

Question Number : 19 Question Id : 71087010056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gaii-1 &l Tall-1l ¥ gHfed Sifo

gal-| gl-11

YU BT TBR ICEILGIL

A, 3 dglda® | ATl & 9

B. 3R dufdd® II. Y W13 & &l

C. 998 11 ST YidTel &1 g2t g
D. SH-HHeH v, %ad g

g 9ol § § Yel SR &1 99 31 :

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

71087040153. 1
71087040154. 2
71087040155. 3
71087040156. 4

Question Number : 20 Question Id : 71087010057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement lI: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087040157. 1

71087040158. 2

71087040159. 3

71087040160. 4

Question Number : 20 Question Id : 71087010057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T el Fy R e g

HYA-| : DEFTI Yfd H safdicd g Uil Sa:fehar & fau avs ¢

HUF-1I : HAGGaD YUY BRI URA H Urg: GaTad SR HHT offdl 5|
SUdEd B! & Hai® | FEied el o 3 Fallie Juged I g ;

1. ®YF | 3R || Hf Tal &

2. B | 3R | gFf el T8 B

3. BYH-1 el &, fbd DYH-11 UL ol &
4. DYH-| Uel 15! 8, fdowq Y- el B
Options :

71087040157. 1

71087040158 2

71087040159. 3

71087040160. 4

Question Number : 21 Question Id : 71087010058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1.12

2 24

3. 36

4.48

Options :
71087040161. 1
71087040162. 2
71087040163. 3



71087040164. 4

Question Number : 21 Question Id : 71087010058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i o9 gy € R B | ued e o OB @1 gl 6 oyl aresl g @t et g1 afg dEt
AT BT 30d 56 & I Ugail SR drasl ST @ 3Hd B -

1.12

2. 24

3.36

4.48

Options :
71087040161. 1
71087040162. 2
71087040163. 3
71087040164. 4

Question Number : 22 Question Id : 71087010059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series

2,10, 26, 50,

-
=
]

94

82

104
Options :
71087040165. 1
71087040166. 2
71087040167. 3

g WD



71087040168. 4

Question Number : 22 Question Id : 71087010059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2,10, 26, 50 __ 1 401 H 3Tl 3 B R0 B -

1. 78

94

82

104
Options :
71087040165. 1
71087040166. 2
71087040167. 3
71087040168. 4

4w

Question Number : 23 Question Id : 71087010060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
4. 80 km/hour
Options :

71087040169. 1
71087040170. 2
71087040171. 3
71087040172. 4



Question Number : 23 Question Id : 71087010060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o1 ¥ o1 38T U SfIGH! HIfey &l ¢ fdh 98 U e H 31 TolhiH & THl &1 9 I&d1 51 3fg
T 50 Hiex of Foihd g R Bl a1 o @ Wis T ar ?

1. 50 T L. / Aidee
2. 60 T Hl. / Ufaden
3. 80 T A1, / ufaden
4. 90 fo AL / AidEe
Options :
71087040169. 1
71087040170. 2
71087040171. 3
71087040172. 4

Question Number : 24 Question Id : 71087010061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
vear?

1. 5125

2. 5250

3. 5500

4. 5150
Options :
71087040173. 1
71087040174. 2
71087040175. 3



71087040176. 4

Question Number : 24 Question Id : 71087010061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- 1 IHY §b T 1 I & oL 10% Uiday & o7 G /9] &1 74| T8 o7 o diftfa
YR 93 UR@IOd idl & dl 1 910 & 3id H o1 @1 3H ad1 i ?

1. 5125

2. 5250

3. 5500

4. 5150
Options :
71087040173. 1
71087040174. 2
71087040175. 3
71087040176. 4

Question Number : 25 Question Id : 71087010062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?
abef, bedg, cdeh, defi,

1. efij

2. efgi

3. efgj

4. def]
Options :
71087040177. 1
71087040178. 2



71087040179. 3
71087040180. 4

Question Number : 25 Question Id : 71087010062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1 31&RT BT Y& | 377 Ug, a1 I
abef, bedg, cdeh, defi,

1. efij

2. efgi

3. efgj

4. def]
Options :
71087040177. 1
71087040178. 2
71087040179. 3
71087040180. 4

Question Number : 26 Question Id : 71087010063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

L. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECD,B
2ZECBAD
3.EB.CD A
4D,A B CE
Options :
71087040181. 1
71087040182. 2
71087040183. 3
71087040184. 4

Question Number : 26 Question Id : 71087010063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T G-ARE H <01 9169 ©! HHdGdl & -
A A

Tofefeg e d a8l TR BT 9ga &3

1.AECD,B
2ZECBAD
3.EB.CD A
4D,A B CE
Options :
71087040181. 1
71087040182. 2
71087040183. 3
71087040184. 4

Question Number : 27 Question Id : 71087010064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B, A
2.A B D,C
3.C,D,B A
4.D,C A B
Options :
71087040185. 1
71087040186. 2
71087040187. 3
71087040188. 4

Question Number : 27 Question Id : 71087010064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y GRARIRE H 94 G B HEGl [T -
A. TG

B. GGl

C. areqd

D. gy

A feu 71T faeedl # € Uel I &1 99 &Y ;

1.D,C B A
2.A B D,C
3.CDB A
4.D,C A B
Options :
71087040185.
71087040186.
71087040187.
71087040188.

AW O~

Question Number : 28 Question Id : 71087010065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"To infer rain in the past by perceiving muddy water in the pond’, is

1. POrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087040189. 1



71087040190. 2
71087040191. 3
71087040192. 4

Question Number : 28 Question Id : 71087010065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
drene § ®i9egad 9l & 44 § g1l 8iH &1 ey a6 -

1. g4 SFHH
2. I9ad SHH
3.1 3R 2 &Ml
4 g
Options :
71087040189. 1
71087040190. 2
71087040191. 3
71087040192. 4

Question Number : 29 Question Id : 71087010066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (thetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087040193. 1



71087040194. 2
71087040195. 3
71087040196. 4

Question Number : 29 Question Id : 71087010066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

£ R 91 b WS & BRI 56N FoTeH & 68 PR BT SarH Hel ol & 7

1. TAEER

2. faesg

3. Gaufage

4, g
Options :
71087040193. 1
71087040194. 2
71087040195. 3
71087040196. 4

Question Number : 30 Question Id : 71087010067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A. All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087040197. 1
71087040198. 2
71087040199. 3
71087040200. 4

Question Number : 30 Question Id : 71087010067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4 or ufaghral €1 T 8, 39 3 & U8 Ui § a7 3 9 81 81 Idd eIt 4 ad 8l 9@
%, 31 6l Uiighdl & G &I 99+ ®x :

A ¥t e SHFER ©

B. ®i5 f AOfFd SHFGR ol Bidl

C. 9 HAld SHFGR &

D. TS Afad SHFER el oid

e feg 71e faeeul 9 U 9et ST &1 957 Sifer

1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4 BT AARD
Options :
71087040197. 1
71087040198. 2
71087040199. 3
71087040200. 4

Sub-Section Number : 4
Sub-Section Id : 710870270
Question Shuffling Allowed : Yes

Question Id : 71087010068 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 288 98 3 23.4 83
20 76| 342 112 2.52 32.5 108
207 7] 324 101 3.84 41.6 74
2018 336 133 3.68 6.4 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087010069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087040201. 1
71087040202. 2
71087040203. 3
71087040204. 4



Question Number : 32 Question Id : 71087010070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4 -1 %
Options :

71087040205. 1
71087040206. 2
71087040207. 3
71087040208. 4

Question Number : 33 Question Id : 71087010071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %

2. 58 %
3.91%

4.73 %
Options :
71087040209. 1
71087040210. 2
71087040211. 3
71087040212. 4



Question Number : 34 Question Id : 71087010072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 52444

3. 544.44
4.591.41
Options :
71087040213. 1
71087040214. 2
71087040215. 3
71087040216. 4

Question Number : 35 Question Id : 71087010073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

T 1511

2. 2722

3 3127
4.19:17
Options :
71087040217. 1
71087040218. 2
71087040219. 3
71087040220. 4

Question Id : 71087010068 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (31 to 35)
Question Label : Comprehension

A= &t TS TR BT SfaeeT B¢ Y G0 T4 Iuf § TR $ 4l (g $Udl §) &7 gfagd
FHURRUN SIS :

=0 & Y (@t 1)
gy , _
HEAN ® | gRded a9 U O g T
dd-
2015 288 g 3.00 234 83
2016 342 112 2.52 32.5 108
2017 324 101 3.84 416 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087010069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g1 o ufaay ofied fdd-1 =1l 9@ USdl @ ?

1. 30.50
2. 36.66
3.39.66
4. 41.02
Options :
71087040201. 1
71087040202. 2
71087040203. 3
71087040204. 4

Question Number : 32 Question Id : 71087010070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfeafad afd § O 5 9199 @1 & & U3 UeH @1 ¢ de 94 3@y & Ued &d dad @1 A1
@1 T foa UfaRd & 2

1. <3 %

2. -4 %

3«7 %

4 -1%

Options :

71087040205. 1

71087040206. 2

71087040207. 3

71087040208. 4

Question Number : 33 Question Id : 71087010071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 37 9! Hal U= 51 741 o 6T 2019 & a 044! &I aiTH a1 WiaRid o ?

1. 84.63%

2. 58%

3.91%
4.73%
Options :
71087040209. 1
71087040210. 2
71087040211. 3
71087040212. 4

Question Number : 34 Question Id : 71087010072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qY 2017 HAM B H A Hpa AT 6 -

1. 624.6

2. 52444

3. 544 .44

4 59141
Options :
71087040213. 1
71087040214. 2
71087040215. 3
71087040216. 4

Question Number : 35 Question Id : 71087010073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dY 2016 2{R 2018 H @I & ¥4 H U T o9yl & dfd &I SUrd oI faiaH 6 2

T 1611

2. 2122

3. 3127

4, 19:17
Options :
71087040217. 1
71087040218. 2
71087040219. 3
71087040220. 4

Sub-Section Number : 5
Sub-Section Id : 710870271
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087040221. 1

71087040222. 2

71087040223. 3

71087040224. 4

Question Number : 36 Question Id : 71087010074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT &t &1 guf Y (Ba BiH) T8 ?

1. ST HIhY 31 R
 Sedde HIE g
.SexHe A s
 SREHE AP BB
Options :

71087040221. 1

71087040222. 2

71087040223. 3

71087040224. 4

[ S R Y

Question Number : 37 Question Id : 71087010075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4, Cache
Options :
71087040225. 1
71087040226. 2
71087040227 3
71087040228. 4

Question Number : 37 Question Id : 71087010075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



___ A0 @I U UBR & ol el Te HU T @l TG &

1. K TTH

2. 8 T A
3. R TH
4. >
Options :
71087040225. 1
71087040226. 2
71087040227. 3
71087040228. 4

Question Number : 38 Question Id : 71087010076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087040229. 1
71087040230. 2
71087040231. 3
71087040232 4

Question Number : 38 Question Id : 71087010076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYPU (A) : YRA & AT UGl ®1 G gl © 95 8l 8
a® (R) : AIESd 1 $IAd $A 6l WGl o
Sudd BYH! & Sfcid o [gifcd fadedl § § Hallte Juddd 3wk 9 :

1. (A) 3R (R) GF G&1 & 3R (R), (A) BT FE1 SRS 21

. (A) 3R (R) GFIT WET & SR (R), (A) BT ol oI 78] ¢
(A)
(

A) U8 8 U (R) 7T & |
. (A) 7T § U3 (R) Hel B
Options :

71087040229. 1
71087040230. 2
71087040231. 3
71087040232. 4

TV

Question Number : 39 Question Id : 71087010077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2 .png

3. .doc

4..jpg
Options :
71087040233. 1
71087040234. 2
71087040235. 3
71087040236. 4

Question Number : 39 Question Id : 71087010077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIFY 2007 H HISH G (THUY) 98 SiagHe &l Higd [a%R & -

1. .docx

2. .png

3. .doc

4. Jpg
Options :
71087040233. 1
71087040234. 2
71087040235. 3
71087040236. 4

Question Number : 40 Question Id : 71087010078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4, 1011
Options :
71087040237. 1
71087040238. 2
71087040239. 3
71087040240. 4

Question Number : 40 Question Id : 71087010078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
GYTd U1 9 B feeR G- A1 & ?

1.1100
2.1001
3.0111
4,.1011
Options :
71087040237. 1
71087040238. 2
71087040239. 3
71087040240. 4

Question Number : 41 Question Id : 71087010079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band C only
4. A, Cand D only
Options :
71087040241. 1
71087040242. 2
71087040243. 3
71087040244. 4

Question Number : 41 Question Id : 71087010079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHISTF TR o &R0 D] DRU 6 -
A, AR FeRHCS Bl sidlaA

B. YHT U6 Wiel 9 o

C. 38 g% @I G
D. ATScioH GHIMAY Skd &l HAd Tan
i fau 70 fasheal © ¥ 981 IR &1 984 &Y ;

1. ®3d A B3R D
2. PAAA R D
3. PadA, BIARC
4 B3I A, C3RD
Options :
71087040241. 1
71087040242 2
71087040243, 3
71087040244, 4

Question Number : 42 Question Id : 71087010080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087040245. 1
71087040246. 2
71087040247. 3
71087040248. 4

Question Number : 42 Question Id : 71087010080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafea & 9 T o1 91 951 761 & forad Sediis: fard aedl & ded SH1YH fovdl o T 2

1. R g

2. gofa i gadga
3. HH4 fUdR

4, Ty fRrem
Options :

71087040245. 1
71087040246. 2
71087040247 3
71087040248. 4

Question Number : 43 Question Id : 71087010081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D B A
2B CAD
3.D,B,C A

4 C B D A
Options :
71087040249. 1
71087040250. 2
71087040251. 3
71087040252. 4

Question Number : 43 Question Id : 71087010081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



goAH H B1e4 SEaeaEs Ide & Uidadiad Godeid d OFGH o aid ol & 3aiis ©H $
eI §Ec ®i UgdiH DX :

A. HRA

B. A

C. §gad Y 3HRSDT

D. STUH

7 fameal & 9 w8l ST T 9g7 &<

1.C,D, B, A
2B CAD
3.D0,B,C A
4.C, B, D A
Options :
71087040249. 1
71087040250. 2
71087040251. 3
71087040252 4

Question Number : 44 Question Id : 71087010082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040253. 1

71087040254. 2

71087040255. 3

71087040256. 4

Question Number : 44 Question Id : 71087010082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYEHYH (A) : GHGICHH FaiaRul Tdisl H 93 gr3aIar Wicl U oY gl3e/ular Wiiel @l agdl
HESIEG S

dd (R) : 93 BISSIUGR Wil &I qo-l § oY SISiulaR icl &I R § & Yol oidi & |
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087040253. 1

71087040254. 2

71087040255. 3

71087040256. 4

Question Number : 45 Question Id : 71087010083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1.75dB
2.65dB
3.55dB
4.50dB
Options :
71087040257. 1
71087040258. 2
71087040259. 3
71087040260. 4



Question Number : 45 Question Id : 71087010083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R H g e far R d Ry e ams © -

1.75dB
2.65dB
3.55dB
4.50dB
Options :
71087040257. 1
71087040258. 2
71087040259. 3
71087040260. 4

Question Number : 46 Question Id : 71087010084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087040261. 1
71087040262. 2
71087040263. 3
71087040264. 4



Question Number : 46 Question Id : 71087010084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I R & Wi ds & 34 H A& @1 T3] g g 98 7 RIgy »d & &0 H
Hifyd favar 7 7

1. 1980

2. 1982

3. 1984

4. 1986
Options :
71087040261. 1
71087040262. 2
71087040263. 3
71087040264. 4

Question Number : 47 Question Id : 71087010085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011

3. 2012

4. 2013
Options :
71087040265. 1
71087040266. 2
71087040267. 3
71087040268. 4



Question Number : 47 Question Id : 71087010085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

UPTY I RIS SATHTH (3R Y TE Q) S U iy UKiiond gieHT & 3R e 3830 U e
FeaeR QNeiftre Y= ! YrAe fad GIe0 He &l g, BT YHRY B foodl 7137 o7 7

1. 2010

2. 2011

3. 2012

4, 2013
Options :
71087040265. 1
71087040266. 2
71087040267. 3
71087040268. 4

Question Number : 48 Question Id : 71087010086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087040269. 1
71087040270. 2



71087040271. 3
71087040272. 4

Question Number : 48 Question Id : 71087010086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR FRIET H W T U (Glig3HR) =R RIgT H G 39 FRUS THid yed ¥pa a4
ﬁmﬂNﬁmﬁmﬁﬁﬁ@u%ﬂﬁﬂﬁﬁﬁﬂﬁ&ﬁMMﬂﬁm%ﬁﬁkﬁﬂﬁﬁﬁﬁﬁdﬁﬁmﬁ-
g1 g 948 U ATEa1a s34 &l G2idl & ?

1.16-21 39
17 -22 99
18-23 94
10 - 24 @4
Options :
71087040269. 1
71087040270. 2
71087040271. 3
71087040272. 4

ATV ¥

Question Number : 49 Question Id : 71087010087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087040273. 1
71087040274. 2
71087040275. 3
71087040276. 4

Question Number : 49 Question Id : 71087010087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad 3 ¥ &H 91 oY gauRd RIa & aiaH oore &dl 6 ?

A. T8 Al IE § U Uieg@H Bl

8. Ug fordlt aafag & ol sfa:faameit &q fard ok <5 &t ad sear 2l

c. faemdf fagae 3o \rar-fdr & Sfadied &d § 3R 3= 4 Uig oideR diEd &
D. el Sg gl SiaR SfieTl 1 39yl 3R @isl Bd 6|

E. I fGentdal of 3o sfiae # S1g=1 = % o & o8 Uidiied ol &

i feu e famedl § ¥ Haiite 3ugdd SR o 9g ®x ;

1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aAC, DARE
4. HaAA DIARE
Options :
71087040273 1
71087040274. 2
71087040275. 3
71087040276 4

Question Number : 50 Question Id : 71087010088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

ICT Initiatives of Ministry of Human|Their benefits for students and researchers
Resource Development

_ I. To get hands-on experience in embedded
A SWAYAM
system

Il. To get free books and curriculum-based e-
B. SWAYAMPRABHA
content

C. 8-PG Pathshala Il To watch high-quality educational
programmes 24x7

D. e-Yantra IVV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-NLB-IW,C-1,D-II
ZA-IV,B-LC-1LD-1
JA-ILB-LC-IV,D-II
4 A-1L,B-ILC-IILD-WV
Options :

71087040277. 1
71087040278. 2
71087040279. 3
71087040280. 4

Question Number : 50 Question Id : 71087010088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-| H§ 714 4. Farey @1 Agdic! dgal @l 3o ol Jai-1l H faenfar ofR it & o

RGN RIS

gal-| gl-1l

A g |. TR0 Ul § S4agiid SN W B0
s %%ﬂmﬁ&nmﬁﬁgﬁgﬁ?ﬁaﬁqu
cx -ui. <. I11. 3= T[0ral Haiell AeffUrh SRIHH] DI 24 x 7
BIERI (REall

D.3- 4 V. H[AETe BIY & ol Hise U Sl

A feu e fdmedl § © Ogl 3o &1 999 @

TA-NLB-W,C-1,D-1
ZA-W,B-1,C-1Il,D-1
JA-ILB-1LC-1V,D-1l
4 A-1,B-ILC-1I,D-1V
Options :

71087040277. 1
71087040278. 2
71087040279. 3
71087040280. 4

PART II Museology and Conservation

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

710870244
2

Online
Mandatory
92

92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870272
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Full form of NMA is:

1. National Monuments Authority
2. National Museum Authority

3. National Mission for Antiquity

4. National Manuscript Authority

Options :

71087040281. 1

71087040282. 2

71087040283. 3

71087040284. 4

Question Number : 51 Question Id : 71087010089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
CIHTH U FUR ;

1. FEFE HFGHE YRS

2. AR T YT
3. 92 HEH BR UeBd
4, T HRP Y YIRS
Options :




71087040281. 1
71087040282. 2
71087040283. 3
71087040284. 4

Question Number : 52 Question Id : 71087010090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is the most appropriate advertising appeal in a poster
depicting sculpture and the message "Museum: Source of Knowledge And Learning"?

1. Rational

2. Emotional

3. New Experience
4, Bandwagon
Options :
71087040285. 1
71087040286. 2
71087040287. 3
71087040288. 4

Question Number : 52 Question Id : 71087010090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TP Ifd & ol @ 91y “UUEIed §19 g 3 &1 9id & So @I G- ard uikex | Faffaa |
Y ®F 9 gaiite 3ugdd YaRTES Ui § ?

1. difbp

2. HIdIHD

3. 4T Hq4Hd

4. §5aTH (Band wagon)




Options :

71087040285. 1
71087040286. 2
71087040287. 3
71087040288. 4

Question Number : 53 Question Id : 71087010091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ES in CITES refers to:

1. Endangered sites

2. Endangered spices
3. Endangered species
4. Endangered streams
Options :

71087040289. 1
71087040290. 2
71087040291. 3
71087040292. 4

Question Number : 53 Question Id : 71087010091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR A3 (CTES)H T 0T H131Y

1. US9E TEed
2. US98 Ry
3. TE9S Wil
4, USSE ©H
Options :

71087040289. 1



71087040290. 2
71087040291. 3
71087040292. 4

Question Number : 54 Question Id : 71087010092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a limitation of CPM?

1. Applicable to wide variety of projects

2. Useful in monitoring schedules

3. Graphical networks highlight relationship among project activities
4. Time estimates tend to be subjective

Options :

71087040293. 1

71087040294. 2

71087040295. 3

71087040296. 4

Question Number : 54 Question Id : 71087010092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
didieg (cpm) @ FOffGa s g e S 9|8

1. S fafaaargol gRdeFrel W ar)

2. TOT-gRul &f FrRHEr 3 Iugnfi|

3. TeRE! Head uRaleHl fShararand! & Gaul ®f TH1ed Hdl o
4, THY SHH AHed 8l ¥dbd & |

Options :

71087040293. 1

71087040294, 2

71087040295. 3




71087040296. 4

Question Number : 55 Question Id : 71087010093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Project scheduling involves:

1. Cost breakdowns

2. Expenditure forecast

3. Budget

4. Sequencing of all project activities
Options :

71087040297. 1

71087040298. 2

71087040299. 3

71087040300. 4

Question Number : 55 Question Id : 71087010093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T TRl & Fgiiiag gmiea g .

1. AT f[3<cu
2. Y qai4aH

3. ddfd

4, YA Soie TATATE] Bl HHES DAl
Options :

71087040297. 1

71087040298. 2

71087040299. 3

71087040300. 4




Question Number : 56 Question Id : 71087010094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The process of assessing abilities or the character of a newly appointed employee is called:

1. Apprenticeship
2. Probation

3. Attrition

4. Intership
Options :
71087040301. 1
71087040302. 2
71087040303. 3
71087040304. 4

Question Number : 56 Question Id : 71087010094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
74 Fged SHOR] ©1 aradrs! HYal IiE B H@ e B &) Uihdl & HEiaRdd 3 J &1 @el

1. TR

2. RGI&HH
3. giqUld

4. 31
Options :
71087040301. 1
71087040302. 2
71087040303. 3
71087040304. 4

Question Number : 57 Question Id : 71087010095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

For cleaning of leather puppets, which one of the following cleaning techniques is considered
safest?

1. Swabbing with moistened sponge

2. Use of micro grit blasting

3. Vacuum cleaning with the machine set on low power
4. Washing with non-ionic detergent

Options :

71087040305. 1

71087040306. 2

71087040307. 3

71087040308. 4

Question Number : 57 Question Id : 71087010095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS @1 DAY @l THTs B & (AU HHdRad § 9 $1H O GhTs deb-ih Geiad 9l Sl
G

1. Y71 BU S T WIH Bl

2. e&r e =aIiReT &1 yain

3. i e IR 9 Y 4 9%
4 TR gHS factele 9 4as
Options :

71087040305. 1

71087040306. 2

71087040307. 3

71087040308. 4

Question Number : 58 Question Id : 71087010096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

"Tempera' is a term used with reference to:

1. Canvas Painting

2. Miniature Painting
3. Panel Painting

4. Wall Painting
Options :
71087040309. 1
71087040310. 2
71087040311. 3
71087040312. 4

Question Number : 58 Question Id : 71087010096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TANSH (U Ist, (49 & ey & uar e s & -

1. P99 FA@RI
2. 7Y feadri
ERVENBEEEAR
4, Ty fegerdl
Options :
71087040309. 1
71087040310. 2
71087040311. 3
71087040312. 4

Question Number : 59 Question Id : 71087010097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The conservation method developed by NRLC, Lucknow for the treatment of 'Bronze Disease’
involves the use of

1. Ethylene oxide
2. Zinc oxide

3. Silver oxide

4, Lead oxide
Options :
71087040313. 1
71087040314. 2
71087040315. 3
71087040316. 4

Question Number : 59 Question Id : 71087010097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘B GIT & IUAR 8q U7 AR T U 089 R [aaid S&0 3 & 5y war &1 96y 3 -

1. BefieiH HiFEs
2. fi® s s
3. FoeaR SiTss
4,8 AFES
Options :
71087040313. 1
71087040314. 2
71087040315. 3
71087040316. 4

Question Number : 60 Question Id : 71087010098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Avoid, Block, Detect, Respond, Treat are the steps used in

1. Remedial Conservation

2. Curative Conservation

3. Preventive Conservation

4. Integrated Pest Management
Options :

71087040317. 1

71087040318. 2

71087040319. 3

71087040320. 4

Question Number : 60 Question Id : 71087010098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IRER, I, FTH, ufafal, STaR U4 @6d § Sl UOr f6d 9Id & -

1. SULRTHS &0 H

2. TR G0 H

3. Fiare dgmr |

4. ﬁﬁéﬁﬁ?{ﬂﬁaﬁf (Integrated Pest Management)
Options :

71087040317. 1

71087040318. 2

71087040319. 3

71087040320. 4

Question Number : 61 Question Id : 71087010099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The term "Malignant Patina’ is used in the context of the deterioration of which type of

-

artifacts?

1. Metal
2. Wood
3. Paper
4. Stone
Options :
71087040321. 1
71087040322. 2
71087040323. 3
71087040324. 4

Question Number : 61 Question Id : 71087010099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T UXd' (Malignant Patina) leg 850 @ g ™ 2g&or H yge fEa 9 % -

1. 91g

2. B8

3. P

4, U
Options :
71087040321. 1
71087040322. 2
71087040323. 3
71087040324. 4

Question Number : 62 Question Id : 71087010100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following has been used as support as well as an adhesive for films for joining
ceramics?

1. Funori

2. Polyester

3. Carboxymethyl cellulose
4. Nitrocellulose

Options :

71087040325. 1
71087040326. 2
71087040327. 3
71087040328. 4

Question Number : 62 Question Id : 71087010100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HTSI (Ceramic) Pl Sile & T ihedl & 3ATed R ueH | Fafatad & 9 fege Iuam f&ar
Sl 82

1. PR - AR

2. Ul

3, PR Sgei
4, AIZCrEeS

Options :

71087040325. 1
71087040326. 2
71087040327. 3
71087040328. 4

Question Number : 63 Question Id : 71087010101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ideal temperature and R.H. for storage and display of weeping glass objects is

. 18-22°C and R.H. below 42%
. 18-22°C and R.H. below 50%
. 22-30°C and R.H. below 60%
. 22-30°C and R.H. below 65%
Options :

71087040329. 1

71087040330. 2

71087040331.3

71087040332. 4

[ T I 9

Question Number : 63 Question Id : 71087010101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
iU i aRg el @ HSRU 3R UG- gq e aiuaM X 3RTE. © -

1.18 - 22° ¥ GYT RTT. 42% Y =9
.18 - 22° ¥ 9YT IIREF. 50% § ="
22 - 30° 91 TYT 34T, 68% I =g
22 - 30° 91 9T RU9.65% T A
Options :

71087040329. 1

71087040330. 2

71087040331, 3

71087040332, 4

oW

Question Number : 64 Question Id : 71087010102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



'Insect traps' used in 'IPM' use a substance that

. evaporates over a period of time
. emits a foul odour

. emits UV rays

E R O A

. Is sticky in nature
Options :
71087040333. 1
71087040334. 2
71087040335. 3
71087040336. 4

Question Number : 64 Question Id : 71087010102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TSUTeH 7 Uged “@ic Bam | 5 g &1 ST e § -

1. T T & 91g 9IS g
2. GO 7% BT 3ol

3. 7 9l [0l &1 3qeiA

4, %Y9 9 fufaar &

Options :

71087040333. 1

71087040334, 2

71087040335. 3

71087040336. 4

Question Number : 65 Question Id : 71087010103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who thought, "A museum of science... in essence a school; a museum of art is, in essence, a
temple.”

1. Benjamin Ives Gilman
2. John Cotton Dana

3. George Brown Goode
4. Dillon Ripley

Options :

71087040337. 1
71087040338. 2
71087040339. 3
71087040340. 4

Question Number : 65 Question Id : 71087010103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
forye oel U1 31 a9 1 G9ead. ... IR: TP [Geed & : Hal ®1 YIead IRa: U qi-a ¢

1. doTE 3oy freaa
2. G BT M

3. 9 989 TS

4, Tawat R

Options :
71087040337. 1
71087040338. 2
71087040339. 3
71087040340. 4

Question Number : 66 Question Id : 71087010104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements is true?

1. Interpretation is impersonal

2. Museum education does not relate to the collection
3. Individual differences do not affect learning

4. Education includes systematic instruction

Options :

71087040341. 1

71087040342. 2

71087040343. 3

71087040344. 4

Question Number : 66 Question Id : 71087010104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gl § 4 S U Y UEl 8 2

1. SO 3{3afaa® & |

2. YygTery fRram Tueu 9 eitd 721 g
3. AfGd® 3R FH Bl UHIGd T8l P
4. 218 & o1afRyg orew AT B
Options :

71087040341. 1

71087040342. 2

71087040343. 3

71087040344, 4

Question Number : 67 Question Id : 71087010105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept that "Knowledge is constructed by the learner personally or socially” is called:

1. Discovery learning
2. Constructivism

3. Assimilation

4. Pedagogy
Options :
71087040345. 1
71087040346. 2
71087040347. 3
71087040348. 4

Question Number : 67 Question Id : 71087010105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
" 1 o el g1 safdaTd sryar amfee Y Y 6T ST § ¢ SaURN ®f a] Sl ol
872

1. @I TS (@)
2. 3-141g

3. Wi

4, TRE TR
Options :
71087040345. 1
71087040346. 2
71087040347. 3
71087040348. 4

Question Number : 68 Question Id : 71087010106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who proposed the concept of ‘Experiential Education’?

1. Jean Piaget

2. Abraham Maslow
3. John Dewey

4. Jerome Bruner
Options :
71087040349. 1
71087040350. 2
71087040351. 3
71087040352. 4

Question Number : 68 Question Id : 71087010106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HAHaA [R1E BT SR @ by ulauried fasar 2

1. % fane

2. HelgH ARG
3. 94 814

4 SRA TR
Options :
71087040349. 1
71087040350. 2
71087040351. 3
71087040352 4

Question Number : 69 Question Id : 71087010107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"A theoretical structure capable of accommodating all museum data” is called

1. Museum Documentation Standard
2. Museum Registration Format

3. Metadata

4. Museum Inventory Control
Options :

71087040353. 1

71087040354. 2

71087040355. 3

71087040356. 4

Question Number : 69 Question Id : 71087010107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qufi TUBIeH Sfids! & GHEeH § 94 UGia® Uia-] &f ] ®8l widl & 7

1. GUBTed Gxalde &0 o OH®
2. HUEY Usiid 0] UIey

3. TeTSIET (Metadata)

4, TgTg difeid! g
Options :

71087040353. 1

71087040354, 2

71087040355. 3

71087040356, 4

Question Number : 70 Question Id : 71087010108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Use of Paraloid for applying accession number on artifacts is suitable for

1. Textiles

2. Paper material

3. Leather objects

4, Hard surfaces like stone, ceramics, etc.
Options :

71087040357. 1

71087040358. 2

71087040359. 3

71087040360. 4

Question Number : 70 Question Id : 71087010108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hdidl U URUE Y= Sie- & foe RIS &1 9an fdgd f$U 3ugad & 7

1. UG P [T

2. BT Gl & o

3. 998 B 9% & Ja¢

4, TR d WIS oY HR Ude & fag
Options :

71087040357. 1

71087040358. 2

71087040359. 3

71087040360. 4

Question Number : 71 Question Id : 71087010109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What does the number 19. 2014. 3 found on an object indicate?

1. The object is accessioned in the year 2014 but its actual date of acquisition is unknown
2. The object is a gift to the museum

3. The object is on loan

4. The object was found unaccessioned in the collection

Options :

71087040361. 1

71087040362. 2

71087040363. 3

71087040364. 4

Question Number : 71 Question Id : 71087010109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol 93 W TS TS AT 19.2014.3 [H9H Ydb & ?

1. 9% B 94 2014 T UI [591 7101, TR IS AUUEY &1 IRl [ & THSR] T8l 6
2. 3% SUeTad @I 3UeR H femr

3. BUWRE

4, 9% 98 & OfErEia T8 @1 TS

Options :

71087040361. 1

71087040362. 2

71087040363. 3

71087040364. 4

Question Number : 72 Question Id : 71087010110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The exhibition that creates "an atmosphere of an era, a country, a particular art style, or a
scene is created in a theatrical way" is called

1. Ecological exhibition
2. Didactic exhibition
3. Evocative exhibition
4, Aesthetic exhibition
Options :

71087040365. 1
71087040366. 2
71087040367. 3
71087040368. 4

Question Number : 72 Question Id : 71087010110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i UGRH! [o1gH "U% 7 &1, U o, fafRry & 2ial 91 ex" & araraRyl &1 39 A1ediy aiid
Y PI Al &, B 5 Hel dl & ?

1. TIRRRG® gazH
2. e ® uggl
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4, Jraaid® ugaHl
Options :
71087040365. 1
71087040366. 2
71087040367. 3
71087040368. 4

Question Number : 73 Question Id : 71087010111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Funds received from the disposal of a de-accessioned work of art should be used for

1. Capital projects

2. Operation of the museum

3. Repayment of loans

4. Refining and strengthening the collections
Options :

71087040369. 1

71087040370. 2

71087040371. 3

71087040372. 4

Question Number : 73 Question Id : 71087010111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hal P R B & FUeR 9 U FiE &1 Uai fbgd fae far o1 9ifst ;

1. GotlTd uRgIeHTY

2. YUerad @1 31

3. Bol DI G
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Options :

71087040369. 1
71087040370. 2
71087040371. 3
71087040372. 4

Question Number : 74 Question Id : 71087010112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The display technique of setting two pictures or models at right angles divided by a glass,
which allows the visitor to see one merging into the other simply by switching the light from
one to the other is called

1. Peoples mover
2. Animatronics
3. Pepper's Ghost
4. Diorama
Options :
71087040373. 1
71087040374. 2
71087040375. 3
71087040376. 4

Question Number : 74 Question Id : 71087010112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B0 R S(EYd &l o 9 Hlsd, S B GRI IS 811 51 SHige &I U IR Bl A= B
ST O1 8 ®4 O U gux § 9HIfgd &4 4 fedrs odl 8, ek & 39 ddb-1d ®| &l dgl ol
87

1. TUUeRy Ha
2. T2 T
3. Uy O
4, S
Options :
71087040373. 1
71087040374. 2
71087040375. 3
71087040376. 4

Question Number : 75 Question Id : 71087010113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following international committee of ICOM focuses on ideas, issues and
practices relating to management and leadership within the context of museums?

1. COMCOL

2. INTERCOM
3. MPR

4, UMAC
Options :
71087040377. 1
71087040378. 2
71087040379. 3
71087040380. 4

Question Number : 75 Question Id : 71087010113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HuEIel @ ded | [9aR), 75 vd el € UeTd UeyH Ud Aqw W hisd oS 9 3w
(IcOM) @I 3P gl Fafafed A e die 2
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4 guETH

Options :

71087040377. 1
71087040378. 2
71087040379. 3
71087040380. 4




Question Number : 76 Question Id : 71087010114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following museums was established as a result of the democratization of
royal collections?

1. The Metropolitan Museum of Art, New York
2. The Hermitage, Saint Petersburg

3. The British Museum, London

4. The Louvre, Paris

Options :

71087040381. 1

71087040382. 2

71087040383. 3

71087040384. 4

Question Number : 76 Question Id : 71087010114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgfafad o T &F 91 9™ AR TUE & dibdiAieLl & URUTHREEY RifUd g3 o1 ?

2. T BiHed, de dreder
3. ¢ fafesr mfomy, die
4. & od, UR¥

Options :

71087040381. 1
71087040382. 2
71087040383. 3
71087040384. 4

Question Number : 77 Question Id : 71087010115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Who introduced the concept of "Ecomuseum”?

1. Soichiro Tsuruta

2. Georges-Henri Riviére
3. Zbynék Stransky

4, Peter van Mensch
Options :

71087040385. 1
71087040386. 2
71087040387. 3
71087040388. 4

Question Number : 77 Question Id : 71087010115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"3l FfSTGH" DI AGYRON g ARY &1 2

1. GIURRT &l
2. SIS g1 Ry
3. Toie® E=a1
4 diex g 4=
Options :
71087040385. 1
71087040386. 2
71087040387. 3
71087040388. 4

Question Number : 78 Question Id : 71087010116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



An insurance policy that covers only specified types of damage is called

1. Floater Policy

2. Named Perils Policy
3. Wall to Wall Policy
4. Package Policy
Options :
71087040389. 1
71087040390. 2
71087040391. 3
71087040392. 4

Question Number : 78 Question Id : 71087010116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS g1 Hifd e dac [P YHR S &ifd M & & Hel ol & ;

1. Geiex giferd

2. TTHd 1G] giferd! (% Uia gifer)
3. dfer 2 ot aTfer

4, Uepel Gifereil

Options :

71087040389. 1

71087040390. 2

71087040391. 3

71087040392. 4

Question Number : 79 Question Id : 71087010117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fry Test is used

1. To assess a written passage such as exhibition text in terms of an approximate reading age
2. To assess degree of comprehension of text

3. To assess legibility of text

4. To assess level of human interest in text

Options :

71087040393. 1

71087040394. 2

71087040395. 3

71087040396. 4

Question Number : 79 Question Id : 71087010117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BT, - UR&T0T 1 WA fohdl STl &

1. 98- @1 I 3 & G54 H HeRiH! Jeie @ oY fiad Tie &1 e Al
2. AR (text) DI THY B 1241 BT HH -

3. AUl B UGl Bl Hba-

4, TR H AFG Bl Td & WL B ATHT

Options :

71087040393. 1

71087040394. 2

71087040395. 3

71087040396. 4

Question Number : 80 Question Id : 71087010118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is considered as the father of the idea of open-air museums?

1. Charles Willson Peale
2. P.T, Barnum

3. Freeman Tilden

4, Artur Hazelius
Options :

71087040397. 1
71087040398. 2
71087040399. 3
71087040400. 4

Question Number : 80 Question Id : 71087010118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TP YR & [9dR & oiHd & &4 4 &I SH] ofldl & ?

1. I fae did
2. U181 5|

3. I feesH

4, TR goifergy
Options :
71087040397. 1
71087040398. 2
71087040399. 3
71087040400. 4

Question Number : 81 Question Id : 71087010119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In a marketing research survey questionnaire, the statement with which the respondent shows
the amount of agreement and disagreement is called

1. Semantic Scale

2. Likert Scale

3. Rating Scale

4, Importance Scale
Options :
71087040401. 1
71087040402. 2
71087040403. 3
71087040404. 4

Question Number : 81 Question Id : 71087010119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR e TA&0T DI UHIET H fordH IRaldl & $Y= UgHld g [TgHld @ A &1 G2idl & @i
GRS

2. fore o
3. I =hd
4, 3UIEY Wq

Options :

71087040401. 1
71087040402. 2
71087040403. 3
71087040404. 4

Question Number : 82 Question Id : 71087010120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Metamuseology means:

1. Theory of Museum Work

2. Description of Museum Work

3. Theory of Museoclogy

4. Theory based Practice of Museum Work
Options :

71087040405. 1

71087040406. 2

71087040407. 3

71087040408. 4

Question Number : 82 Question Id : 71087010120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ﬁ_ﬂﬂ:ﬁfﬂ SIE] (Metamuseology) &1 HETE ;

1. HUETd 1 &1 [Ugid

2. YUgTad $1 guiH
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4 YTy &1 @1 fagid H1uRd narg
Options :

71087040405. 1

71087040406. 2

71087040407. 3

71087040408. 4

Question Number : 83 Question Id : 71087010121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Maintaining thorough and accurate collection management records can be useful in:
A. Establishing legal ownership of the collection

B. Reducing the need to handle the collection

C. Insurance

D. Quick retrieval of information

Choose the correct answer from the options given below:

1. A, B and C only

2. A, Cand D only
3. B, Cand D only
4 All-A B Cand D
Options :
71087040409. 1
71087040410. 2
71087040411. 3
71087040412. 4

Question Number : 83 Question Id : 71087010121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



quf ReE1d 9 Ul YUV HaR &l Sificig IugiT gl Il &
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2. BAAA, C3HRD
3. @A B,C 3R D
4, gHi

Options :
71087040409. 1
71087040410. 2
71087040411. 3
71087040412. 4

Question Number : 84 Question Id : 71087010122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the present day context, a museum can be:

A. useful in helping solve social problems

B. a cultural centre

C. a community centre

D. a social re-habilitation centre

Choose the correct answer from the options given below:

1. A and B only

2. A, B and C only

3. B and C only

4 All-A B Cand D
Options :
71087040413. 1
71087040414. 2
71087040415. 3
71087040416. 4

Question Number : 84 Question Id : 71087010122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



goAA ey d gugcg el 9@d & ;

A. GHETToIE sl & FaRo Gekdl § Suant

5. GiEpla® o5

C. GHEi® dg
D. Ao gHad &g
i feu T famedl § ¥ Faiite 3ugad 3R gHU :

1.5ad A, B

2. BAAA BIARC
3.@ad BIRC
4, gHi

Options :
71087040413, 1
71087040414, 2
71087040415. 3
71087040416 4

Question Number : 85 Question Id : 71087010123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Humidification chamber is used for the flattening of which of the following materials?
A. Stone

B. Metal

C. Paper

D. Textile

E. lvory

Choose the correct answer from the options given below:

1. A, B and C only
2. C only

3. D only

4. C and D only
Options :
71087040417. 1
71087040418. 2
71087040419. 3
71087040420. 4

Question Number : 85 Question Id : 71087010123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fofafag 4 @ g amd & 9uie & & fOT rddr o8 &1 SuniT g 9T & -
A TR

B. U1q

C. DT

D. T

E. 141 Gid

75 faeeul § 9 98l TR I

1. HaAA, B3R C
2.®ad C

3. ®@ada D

4. Had C AR D
Options :
71087040417 1
71087040418. 2
71087040419. 3
71087040420 4

Question Number : 86 Question Id : 71087010124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per Jifi Neustupny, Museography includes:

A. Practical Work in Museums

B. Theory of Museums

C. Philosophy of Museum Work

D. Descriptive aspects of Museums

Choose the correct answer from the options given below:

1. A and B only

2. A and D only

3. A, Band C only
4 All-A B Cand D
Options :
71087040421. 1
71087040422. 2
71087040423. 3
71087040424. 4

Question Number : 86 Question Id : 71087010124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SR ARe U] & HFIR FodaTm! | A §
A. BRIl § TORTES &Y

B. TueTayf &1 fisid

C. TUETed & @1 g3

D. BY8Tad &1 [daiundd 9wy
id feu e fasedl & ¥ 981 IR 9T

1. Had A 3R B

2. BaA A AR D
3. PAAA BIARC
4, gHi

Options :
71087040421. 1
71087040422. 2
71087040423. 3
71087040424, 4

Question Number : 87 Question Id : 71087010125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Natural Heritage, as defined by ICOM includes:

A. Any natural thing considered to be of scientific significance

B. Any natural thing considered to be of spiritual manifestation

C. Any phenomenon or concept considered to be of scientific significance
D. Any phenomenon or concept considered to be of spiritual manifestation
Choose the correct answer from the options given below:

1. A and C only

2. A, B and C only

3. B, Cand D only
4 All-A B Cand D
Options :
71087040425. 1
71087040426. 2
71087040427. 3
71087040428. 4

Question Number : 87 Question Id : 71087010125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ICOM BRT URHITT Widldd fared & idiid :

A. 371D Hewd @ Biy 4l Wiplad a3g

B. Ef@® HfqHTd &I HFI &H arell 9%

C. 3% Hew &1 AF 9H aral &is O uRger gy
D. TS HIGHIE DI AT S arell IRge1 IT SaHRo
frifed el & 9 T8l Sw T -

1. HaAA R C

2. BAAA BIARC
3. @aAB, C3RD
4, gHi

Options :
71087040425 1
71087040426. 2
71087040427. 3
71087040428, 4

Question Number : 88 Question Id : 71087010126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Learning disabilities include:

A. Dyslexia

B. Mental Retardation

C. Hyperactivity

D. Disorders of memory and thinking

Choose the correct answer from the options given below:

1. A and B only

2. A, B and D only
3. A, Cand D only
4 All-A B Cand D
Options :
71087040429. 1
71087040430. 2
71087040431. 3
71087040432. 4

Question Number : 88 Question Id : 71087010126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS (@) Feraadret | g 3
A. U5 &l (FEwifamm)

B. AMT® Ha (He 9i5)

C. SATD Fishadl FIFR Yaeiac)

D. ¥RU AR Fia & fddR

Praffed feed @ @ 98 SR aRT.

1. Had A 3R B

2. BAAA BIARD
3. BAAA, C3HRD
4, gHi

Options :
71087040429. 1
71087040430. 2
71087040431. 3
71087040432, 4

Question Number : 89 Question Id : 71087010127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following Museum publications are periodicals?
A. Journal

B. Newsletter

C. Guidebook

D. Catalogue

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and C only
4. B and D only
Options :
71087040433. 1
71087040434. 2
71087040435. 3
71087040436. 4

Question Number : 89 Question Id : 71087010127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgfeiad & 4 & 4 9usoy yeeH Hadaris ¢ 2

Praffed feed @ @ 98 SR aRT.

1. Had A 3R B
2. @A A AR C
3. @ad B IR C
4.%dd B3R D
Options :
71087040433, 1
71087040434. 2
71087040435. 3
71087040436, 4

Question Number : 90 Question Id : 71087010128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Basic considerations for the layout of an exhibition include:
A. Number and type of visitors

B. Visitors' psychology

C. Exit-gradient effect

D. Viewing distance

Choose the correct answer from the options given below:

1. A, Cand D only
2. B, C and D only

3. A and D only

4 All-A B Cand D
Options :
71087040437. 1
71087040438. 2
71087040439. 3
71087040440. 4

Question Number : 90 Question Id : 71087010128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U= B Ul & [T ATURY TSGR H Gfed 6 -

A. HFTID| & YBR B G|

B. HITg@| &1 AHGH]

C. FeE B (Exit - gradient) HHId
D. & ®i gl

Fgifdd fameul & © T8l IR 9 -

1. PaAA, C3RD
2. ®adaB, C3RD
3. HAAA AR D
4, gHi

Options :
71087040437 1
71087040438. 2
71087040439. 3
71087040440 4

Question Number : 91 Question Id : 71087010129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Micro sandblaster can be used for cleaning of:

A. Metal

B. Stone

C. Stucco

D. Paper

E. Parchment

Choose the correct answer from the options given below:

1. A, B and E only
2. D and E only

3. A, Band C only
4. A B and D only
Options :
71087040441. 1
71087040442. 2
71087040443. 3
71087040444. 4

Question Number : 91 Question Id : 71087010129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ASH] 43 R @] [ba®] 96 & [ 9aH {6g1 ol 96dl g ?

AL Hld

5. TR

C. @l
D. BT
E. IHUA

g e & @ 98 SR

1. HadA, B IARE
2. @ad DIARE

3. BAAA BIARC
4.%ad A B3RD
Options :
71087040441. 1
71087040442, 2
71087040443. 3
71087040444, 4

Question Number : 92 Question Id : 71087010130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which are the elements of the marketing-mix that produce cost?

A. Product

B. Price

C. Place

D. Promotion

Choose the most appropriate answer from the options given below:

1. A and B only

2. A, Cand D only
3. B, Cand D only
4. A B and Conly
Options :
71087040445. 1
71087040446. 2
71087040447. 3
71087040448. 4

Question Number : 92 Question Id : 71087010130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fAqUH HaIeH (Marketing - mix) @ ®1H ¥ o ¢ ol AFTd &1 HYR0 &l & ?
A 3dG

B. g

C. ®IF
D. WisTeA
i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. Had A 3R B

2. BAAA,C3HRD
3. ®»daB,C3RD
4. HaAA BIARC
Options :
71087040445, 1
71087040446. 2
71087040447 3
71087040448, 4

Question Number : 93 Question Id : 71087010131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Inscription of a site on the World Heritage List may bring an increase in:
A. nuisance on the site

B. monkey menace on the site

C. tourism activities at the site

D. important funds to the site

E. outstanding values of the site

Choose the most appropriate answer from the options given below:

1. A and B only

2. Cand D only

3. D and E only

4. C, D and E only
Options :
71087040449. 1
71087040450. 2
71087040451. 3
71087040452. 4

Question Number : 93 Question Id : 71087010131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



By R T 3 el e & oifiRd ol S ReRfRT d 3 o d g S wod 3

A, T U< JUgd

B. ®IT U GIFRI @1 HIdd

C. Y& R U Tidfafeat

D. ®d & fore Hewyu A

E. ¥Jc] 1 iy Acy

Fafeiad famedl § ¥ Faiide 3udad 3w 9T ;

1. Had A 3R B

2. ®ad C 3R D
3. HaAAD IR E

4. HIAC,DIARE
Options :
71087040449 1
71087040450. 2
71087040451. 3
71087040452 4

Question Number : 94 Question Id : 71087010132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following consumer groups will be included in demographic segmentation?
A. Villagers

B. llliterates

C. Quality seekers

D. Professionals

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. C and D only
Options :
71087040453. 1
71087040454. 2
71087040455. 3
71087040456. 4

Question Number : 94 Question Id : 71087010132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad Sudied Wie! o § &F 91 9Hg sHiReey fauyied oo H §HaiRa & :
A, TTHIOT

B. FReR @

C. UG & TD
D. U=’
i feu T famedl § ¥ Haiitie 3ugdd SR 4 :

1. Had A 3R B
2. HaAB AR C
3.@ad BARD
4. %dd C AR D
Options :
71087040453, 1
71087040454, 2
71087040455. 3
71087040456, 4

Question Number : 95 Question Id : 71087010133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the non-toxic methods for disinfestation of artifacts?
A. Anoxic Treatment

B. Deep Freezing

C. Thermal Treatment

D. Paradichiorobenzene fumigation

E. Anthrax spray

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, B and C only
3. A, B and D only
4. A B and E only
Options :
71087040457. 1
71087040458. 2
71087040459. 3
71087040460. 4

Question Number : 95 Question Id : 71087010133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SaAIBiadl b HieARH & o Fafaiad 4 € o 9 R Sliags [t 2
A. THITGEY IUAR

B. ST Wit

C. YHd 9UER

D. WITSaRiaea glidbu
E. @iag gl
Fafeied faeedl § ¥ 981 3w 9 ;

1. PaAA ,C3RD
2. BAAA BIARC
3. ®BAAABIARD
4. HaAABIARE
Options :
71087040457, 1
71087040458. 2
71087040459. 3
71087040460 4

Question Number : 96 Question Id : 71087010134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to RPWD Act, a person is considered Divyang if he/she is/has
A. with high Intelligence Quotient

B. hard of hearing

C. chronic neurological disorder

D. speech disability

E. of a good eyesight

Choose the most appropriate answer from the options given below:

1. A, B and C only

2. B, C and D only
3.B, C, D and E only
4. A, Cand D only
Options :
71087040461. 1
71087040462. 2
71087040463. 3
71087040464. 4

Question Number : 96 Question Id : 71087010134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HR Ul B&cg S TaT 2016 & AJUR foheil oigd ®! [GaaiT AF1 91l & 3ie 98 Hefkied § 9 i

=

B

A, 3= 9ifgd HITHd grar Afad

B. $dl G- a1l

c. F@ifae dR® [dsR aren

D. 91 ALl
E. =31 & =Parar
Fafeiad fdmedl 5 9 98l faded o

1. HadA B3R C

2. HadaB,C3RD
3. ®adB,C, D3RE
4. HFAA,C3RD
Options :
71087040461 1
71087040462. 2
71087040463. 3
71087040464 4

Question Number : 97 Question Id : 71087010135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following data are 'Attributed data’ in the process of documentation of a natural
history specimen?

A. Standard measurements

B. Locality

C. Physical condition

D. Date and Time of collection

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. B and D only
Options :
71087040465. 1
71087040466. 2
71087040467. 3
71087040468. 4

Question Number : 97 Question Id : 71087010135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad sids! d 4 &H T sfide! Widlde Sfder 51 & Gddell Hul $i Ufshdl H URe
HHSI B ?

A. FH® HIUH
B. R

C. Hifd® &y

D. §YEU 1 §HY g feAi®
fFaiferd fameul H € T8l 3wk o -

1. Had A 3R B
2. HaAB AR C
3. HAAA AR D
4. HFABARD
Options :
71087040465 1
71087040466. 2
71087040467. 3
71087040468, 4

Question Number : 98 Question Id : 71087010136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The AMASR Act, 1958 was enacted for:

A. Preservation of ancient and historical monuments and archaeclogical sites and remains of
national importance

B. Providing for the compulsory acquisition of antiquities and art treasures for preservation in
public places

C. Regulation of archaeclogical excavations

D. Regulation of the export trade in antiquities and art treasures

E. Protection of sculptures, carvings and other like objects

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. A, B and D only
4. A DandE only
Options :
71087040469. 1
71087040470. 2
71087040471. 3
71087040472. 4

Question Number : 98 Question Id : 71087010136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U UH U UY 3R (AMASR) Ude 1958 ®i FHfeiRad & fau sifafafaq favar ot
A. UIHH 9 UfdeiiYe WRe d Ridiiad ¥dl 3R AP Hgtd & SaRul BT ERE0

B. HIdu® R U RIGgH! 3R &l BN B T& §q H-ard s o WiadH - &
few

C. Qdlidd a4 of f[afgad

D. QRIa%31 3R el BN & Fald AR &1 fafFaaA
E. Hfeal, FaepTail #iR 391 X8 DI o0 TEgail BT EE0
Fafeied fdeeal § ¥ allis Jugad S -y :

1. HaAA, B3R C
2. HaAA,C AR E
3.PaAAA,B 3R D
4. HaAA, D ARE
Options :
71087040469. 1
71087040470. 2
71087040471, 3
71087040472. 4

Question Number : 99 Question Id : 71087010137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A Museum Disaster Plan should consider threats from

A. Fire

B. Flood

C. Breakage

D. Earthquake

E. Mishandling

Choose the correct answer from the options given below:

1. B, D and E only
2. C, D and E only
3. A, Band C only
4. A B and D only
Options :
71087040473. 1
71087040474. 2
71087040475. 3
71087040476. 4

Question Number : 99 Question Id : 71087010137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YUBTY Syl Uier # Faftiiad 9 @Rl U &M o1 9iey
A. 31

5. alg

C.ge-pe

D. &4

E. TT07d &1 9 Il / SUgiT ®e
Fafeied fa®eal 5 ¥ 981 3w 9L

1.$ad B, D AR E
2. ®aaC,DIARE
3. @AAA, B AR C
4.HadA,B3RD
Options :
71087040473, 1
71087040474. 2
71087040475. 3
71087040476, 4

Question Number : 100 Question Id : 71087010138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



To motivate museum employees, which of the following can be used as intangible rewards?
A. Appreciation

B. Bonuses

C. Pay rise

D. Empowerment

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and D only
4. C and D only
Options :
71087040477. 1
71087040478. 2
71087040479. 3
71087040480. 4

Question Number : 100 Question Id : 71087010138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GUETeR HHANRA] B IHRT B3 B [T Fafciiad 7 4§ 59-fbd &1 3FiR [ReR & ®U H
T &l o debdl &

A U=

2. &g

c.dad 3fS

D. GRIGa®d
Fafeiad fgeeal § 9 981 3w gHU

1. Had A 3R B
2. @ad B IR C
3. HAAA AR D
4. %dd C AR D
Options :
71087040477. 1
71087040478. 2
71087040479. 3
71087040480. 4

Question Number : 101 Question Id : 71087010139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following methods should a museum use to authenticate its collections?
A. Historical method

B. Stylistic analysis

C. Scientific methods

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4 All-A BandC
Options :
71087040481. 1
71087040482. 2
71087040483. 3
71087040484. 4

Question Number : 101 Question Id : 71087010139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ol 9ugIad @1 39 99 &I UHIUd &34 & [od Hgieiad &feaf § 9 o= i afy @ mam
A1 dliel 7

A. Ulgiaes fafy

B. QAT fa=eryor

C. a9 fafy

1 fu 7w faeal # 9 Wel ST 94 -

1. Had A 3R B
2. HaAB AR C
3. @A A AR C
4, gHi

Options :
71087040481. 1
71087040482. 2
71087040483. 3
71087040484, 4

Question Number : 102 Question Id : 71087010140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The information recorded for inventory control purposes should
A. be interpretive

B. serve to identify an object

C. serve as a source of basic information about an object

D. record the history of ownership of the object

Choose the correct answer from the options given below:

1. A and B only

2. A, B and C only

3. B, Cand D only
4 All-A B Cand D
Options :
71087040485. 1
71087040486. 2
71087040487. 3
71087040488. 4

Question Number : 102 Question Id : 71087010140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



difera A SERal & fore sffeiaa el & &ar g =g 2

A, RTED Bl

B. 3% @I Ugdl-- H Heradi ol

C. 3% & [q90 & STURYd Y1 & Hid & &Y H B B
D. 9% & WA & Sider &1 HiHcg
Fgifdd fameul & © Talft® Sugded SR O -

1. Had A 3R B

2. BAAA, B AR C
3. @aAB, C3RD
4, gHi

Options :
71087040485 1
71087040486. 2
71087040487. 3
71087040488, 4

Question Number : 103 Question Id : 71087010141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Qualities of a good showcase include:

A. Stability

B. Maintaining good light levels

C. Made up of materials safe for the objects

D. Which permits basic maintenance

Choose the correct answer from the options given below:

1. A, Cand D only
2. B, C and D only

3. A and D only

4 All-A B Cand D
Options :
71087040489. 1
71087040490. 2
71087040491. 3
71087040492. 4

Question Number : 103 Question Id : 71087010141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fopdl afws UaRlA HopuT & quarel| § afffed 8
A. FERA

B. ST UpTRT oagey]

C. FRg el & o GRIGT gard o1 &1 gan
D. Wil G WE¥EHd ®f Al Sdr el
fFeifd @l § € T8l IR 94 -

1. PaAA, C3RD
2. ®adaB, C3RD
3. HAAA AR D
4, gHi

Options :
71087040489. 1
71087040490. 2
71087040491. 3
71087040492, 4

Question Number : 104 Question Id : 71087010142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Standing Plans?

A. Objectives

B. Procedures

C. Budget

D. Rules

Choose the most appropriate answer from the options given below:

1. A, B and C only

2. B, C and D only

3. A, B and D only
4 All-A B Cand D
Options :
71087040493. 1
71087040494. 2
71087040495. 3
71087040496. 4

Question Number : 104 Question Id : 71087010142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # € o O = aeE g

A. G

B. Jegfai

C. 9

D. |

Fafeiad fameal # ¥ alfas Juged 3w 44 ;

1. BAAA, B, C

2. ®adaB, C, D

3. ®adA, B, D
4. HEAA, B, C, D
Options :
71087040493, 1
71087040494, 2
71087040495. 3
71087040496 4

Question Number : 105 Question Id : 71087010143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Static Interpretive media?

A. Photographs

B. Diorama

C. Labels

D. Medel

Choose the correct answer from the options given below:

1. A and C only

2. B and D only

3. A and D only

4 All-A B Cand D
Options :
71087040497. 1
71087040498. 2
71087040499. 3
71087040500. 4

Question Number : 105 Question Id : 71087010143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafafag 9 € oF 91 AR Iedd 9199 (Media) § -

A. ThICHITHL

B. SEXH]

C. de oy

D. Aisd

Fgiferd faeeal & 9 T8l W - -
1. Baa A AR C

2. HaAB AR D

3. BaAdA AR D

4. g4l

Options :

71087040497. 1
71087040498. 2
71087040499. 3
71087040500. 4

Question Number : 106 Question Id : 71087010144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following measures will minimise mould growth on leather puppets?
A. Lubrication

B. Storage in dark

C. Good ventilation

D. RH between 65-75%

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3. B and D only
4. A and D only
Options :
71087040501. 1
71087040502. 2
71087040503. 3
71087040504. 4

Question Number : 106 Question Id : 71087010144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad § 9 &F 91 3G TS ©f Hoqdel I Bhal gia o &H O 9bdl 6 -
IR CEEIE]

B. 3t} § HERUW

C. 331 A U]
D.65-75 % & H& 3R Ug
Fafafad fasedl & ¥ U8l SR g -

1. Had A 3R B
2. @A A AR C
3. @AAB AR D
4. HAAA AR D
Options :
71087040501. 1
71087040502. 2
71087040503. 3
71087040504, 4

Question Number : 107 Question Id : 71087010145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ideal environmental conditions for mixed collections in stores include
A. RH in the range of 55 - 65%

B. A constant temperature in the range of 18-22°C

C. Light levels in the range of 150-300 lux

D. Constant RH in the range of 45 - 55%

Choose the most appropriate answer from the options given below:

1. A and B only

2. B and D only

3. A, Band C only
4. A B and D only
Options :
71087040505. 1
71087040506. 2
71087040507. 3
71087040508. 4

Question Number : 107 Question Id : 71087010145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



W H fHidd 998 o forg srexl yaiquil fRufaal & iR & -
A. 55% ¥ 65% TP DI <ol H RH

B. 18°C- 22°C T @I Yol H &R dIUHH

C.150-300 10x 1 3ol T UPHI BT &R

D. 45-55% @1 {o] 0 MR RH

1 fu 7w faeal # 9 Wel ST 94 -

1. Had A 3R B

2. @aAB AR D

3. BAAA BIARC
4. HaAA BIIRD
Options :
71087040505. 1
71087040506. 2
71087040507. 3
71087040508, 4

Question Number : 108 Question Id : 71087010146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When objects are moved over long distances, they are susceptible to damage from:
A. Vibration

B. Constant Relative Humidity

C. Repeated handling

D. Extremes of Temperature

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, B and D only
4. A, Cand D only
Options :
71087040509. 1
71087040510. 2
71087040511. 3
71087040512. 4

Question Number : 108 Question Id : 71087010146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e gegat @ T gl IR RYFARd a1 9Tt & ot d ge-e & la sifd Gde-=id gl &
A BEA Y

5. R TG Sire

C. ¥R R GoHI / TG

D. TTYshH BT Sl

R Ry Ao 78 gd e T

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA, B IR D
4. B3I A, C3RD
Options :
71087040509. 1
71087040510. 2
71087040511, 3
71087040512. 4

Question Number : 109 Question Id : 71087010147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Primary data about museum visitors can be collected through:

A. Research Journals

B. Focussed Groups

C. Experiments

D. Surveys

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Cand D only
3. B and C only

4. B, C and D only
Options :
71087040513. 1
71087040514. 2
71087040515. 3
71087040516. 4

Question Number : 109 Question Id : 71087010147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TURTed ¥ 3 aIc HITqd & g H Ufi® siael fhad J1e U Ueid (a1 o 9@dl 87
A. Y TSR Journals)

B. By Uy

C. Ui |

D.Hd&mT g

i feu T famedl § ¥ Faiite 3ugdd 3R gHU

1. HaAA, B3R C
2. BAAA, C3HRD
3. HaAB AR C

4. HadA B, C AR D
Options :
71087040513 1
71087040514. 2
71087040515. 3
71087040516. 4

Question Number : 110 Question Id : 71087010148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The criteria used to define the scope of a collection should include:
A. The theme of the collection

B. Authenticity and provenance

C. Geographical area from which collection is derived

D. Relevance to collection

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. B and C only
Options :
71087040517. 1
71087040518. 2
71087040519. 3
71087040520. 4

Question Number : 110 Question Id : 71087010148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fardl T9E BI GH1EA1 &I RN B H Wi A/UEUs H SiHad 8 ;
A. 975 Bl (990 a5

B. UG d SgH ®H

C. I8 HITIe® &7 Sgi ¥ U9 U g1 Siidl &

D. € B3 &1 Ul

1 fu 7w faeal # 9 Wel ST 94 -

1. Had A 3R B
2. @A A AR C
3. HAAA AR D
4. HaAB AR C
Options :
71087040517 1
71087040518. 2
71087040519. 3
71087040520. 4

Question Number : 111 Question Id : 71087010149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

(Type of collection) (Method of Collection)

A. Intangible Heritage . Exploration and Excavation
B. Archaeclogical Material Il. Purchase and Gifts

C. Ethnographic Material lIl. Video recording

D. Contemporary Art V. Fieldwork

Choose the correct answer from the options given below:

1. A-lll, B-1, C-1V, D-lI
2. A-ll, B-11l, C-1, D-1IV
3. A-1V, B-ll, C-111, D-1
4, A-lil, B-1v, C-1, D-1i
Options :
71087040521. 1
71087040522. 2
71087040523. 3
71087040524. 4

Question Number : 111 Question Id : 71087010149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gl -1 Tl -1l

IR & UBR GUEY & Yalidd I9gad a9
A, 3 faRTad I S=dN0] § Jc-H

B. Rdlig® gard 1. 9 @ 39ER

C. JaufayH uard 11, difsar ferfan

D. JHGEH &l V. &7 - B

TA-ILB-LC-IV, D-II
ZA-ILB-U.E€-1,D-IV
A-IVB-ILC-1, D-1
4AA-IILB-IV,C-I, D-1
Options :

71087040521. 1
71087040522. 2
71087040523. 3
71087040524. 4

Question Number : 112 Question Id : 71087010150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List I List 11

A. Inference Skills . Ability to understand information

Il. Ability to bring parts together to

B. Interpretation Skills
form a new pattern

C. Communication Skills 1. Ability to think in hypothetical
and deductive terms

D. Synthesis Skills V. Ability to structure information

and express it in different modes

Choose the correct answer from the options given below:

1. A-1N, B-1, C-1V, D-II
2. A-IV, B-Il, C-1, D-1lI
3. A-lll, B-1l, C-1V, D-I
4. A-1, B-lll, C-ll, D-IV
Options :
71087040525. 1
71087040526. 2
71087040527. 3
71087040528. 4

Question Number : 112 Question Id : 71087010150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 @ gl -1 & 1y FAfed Sifo

gl -1 T -1l

A, ST DIRE |1 QA1 B GHSH &1 GRgdl

B. SARSTH® 11, Tafirs STl &1 U T1Y & B2 741 U a4 @l
GAEIN! gl

C. UUNU SIS ||l PIeUi—® g HTHES doul J 994 & grga]

I V. A1 B AT B 0 139 T e B Bl
' Tl

frafeied famedl H 9 el IR gHU:

TA-NL,LB-L,C-N, D-Il
2ZA-IW,B-1I,C-1, D-1l
3JA-NILB-ILC-1IV, D~
4 A-1,B-N,C-1l, D-IV
Options :

71087040525. 1
71087040526. 2
71087040527. 3
71087040528. 4

Question Number : 113 Question Id : 71087010151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A, Acquisition |l The process used to remove an item permanently
from the record of objects in a museum

B. Cataloguing |Il. The act of getting rid of something that is
unwanted

. De-

o lIl. Creation of a full detailed record of information
accessioning

about the object

D. Disposal IV. Enlargement of the collection through purchase,

gift or bequest and field collection

Choose the correct answer from the options given below:

1. A-1V, B-lII, C-1, D-II
2. A-1, B-1V, C-11, D-1lI
3. A-ll, B-1, C-1lI, D-IV
4. A-lll, B-I, C-1V, D-1
Options :
71087040529. 1
71087040530. 2
71087040531. 3
71087040532. 4

Question Number : 113 Question Id : 71087010151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FiTed o 7998 SR aNT-

TA-W,B-1,C-1, D-I
ZA-M,B-1,C-IV, D=1
JA-NILB-IV,C-Il, D~
4 A-ILB-IV,C-1, D-1
Options :

71087040529. 1
71087040530. 2
71087040531. 3
71087040532 4

Question Number : 114 Question Id : 71087010152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

(Types of Plans) (Examples)

A. Single-use plan |. To become a market leader
B. Long-range plan II. Policies

C. Shert-range plan lll. Budget

D. Standing plan V. Training of Personnel

Choose the correct answer from the options given below:

1. A-lll, B-1, C-1V, D-lI
2. A-lll, B-1V, C-1, D-lI
3. A-ll, B-1, C-1v, D-1lI
4, A-IV, B-lII, C-1, D-1i
Options :
71087040533. 1
71087040534. 2
71087040535. 3
71087040536. 4

Question Number : 114 Question Id : 71087010152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-LC-IV, D-II
ZA-ILB-IV,C-I, D-II
JA-ILB-LC-1V, D-1I
4 A-IVB-IILC-I, D-1I
Options :

71087040533. 1
71087040534. 2
71087040535. 3
71087040536. 4

Question Number : 115 Question Id : 71087010153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A. Production Concept I. Holds that consumers, if left alone won't
buy enough of the organization's
products

B. Product Concept Il. A customer-centred, sense-and-

respond philosophy

C. Selling Concept lll. Holds that consumers prefer products
that are widely available and inexpensive

D. Marketing Concept IV. Holds that consumers favour products
offering the most quality performance or

innovation feature

Choose the correct answer from the options given below:

1. A-l, B-1l, C-lll, D-1V
2. A-ll, B-1Il, C-1V, D-I
3. A-Ill, B-IV, C-1, D-I
4. A-IV, B-l, C-lI, D-1I
Options :
71087040537. 1
71087040538. 2
71087040539. 3
71087040540. 4

Question Number : 115 Question Id : 71087010153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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c. faoa &t |I1. 3THT 71 § 55 Susigar 99 Saig & UNfAea od &
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TA-1L,B-ILC-I,LD-1V
ZA-1LB-1,LC-1IV, D~
3A-NILB-IV,C-1, D-1I
4 A-IV,B-1LC-1II, D-1I
Options :

71087040537. 1
71087040538. 2
71087040539. 3
71087040540. 4

Question Number : 116 Question Id : 71087010154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Exhibition objectives Examples

A. Cognitive objectives . Listening to an audio guide

B. Behavioural objectives Il. To create interest

C. Emotional objectives lll. Learn about the life of people from
the past

% Cotrminity sbiactive IV.Develop a partnership with cultural
leaders

Choose the correct answer from the options given below:

1. A-lll, B-1, C-1I, D-IV
2. A-ll, B-1ll, C-1v, D-I
3. A-lll, B-1IV, C-1, D-I
4, A-IV, B-lII, C-1, D-1i
Options :
71087040541. 1
71087040542. 2
71087040543. 3
71087040544. 4

Question Number : 116 Question Id : 71087010154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 & gl -1 Y gAferd sifoe

gl -1 gl -1l

el & 35 ARSI

A TIFE® 3629 |1 @G ARTGRi® & g1

B. HGERIH® 320 |1l ©fg UG &A1

C. YIaTH® 35549 111, 3{did & T & Siig- & 9R 8 S

D. YHeIid® 35%d  |Iv. Hieplad Adieil & 91y eicR] o [dd™
Fgifed fameal o ¥ 98l 3R gHu:

TA-ILB-LC-1Il, D-IV
ZA-ILB-HULC-IV, D-1I
JA-ILB-IV,C-I, D-1I
4 A-IVB-IILC-I, D-1I
Options :

71087040541. 1
71087040542. 2
71087040543. 3
71087040544. 4

Question Number : 117 Question Id : 71087010155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List I

Method Disadvantages

SRR I. Sample heating by laser radiation can
destroy the sample

B. SEM-EDX Il. Destructive & Time consuming

C. Enzymatic Ill. Coating samples with gold or carben

dehydrogenase can destroy them

D. Raman micro IV. Samples could be destroyed by

spectrometry pressure

Choose the correct answer from the options given below:

1. A-l, B-11, C-1II, D-IV
2. A-1V, B-llI, C-lI, D-1
3. A-ll, B-1V, C-1, D-1lI
4, A-lil, B-l, C-IVv, D-1i
Options :
71087040545. 1
71087040546. 2
71087040547. 3
71087040548. 4

Question Number : 117 Question Id : 71087010155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-I,B-U,C-ll, D-IV
2ZA-IVB-ILC-I, D-1
SA-ILB-IV.C-1, D-1I
4AA-IILB-LC-IV, D-1I
Options :

71087040545. 1
71087040546. 2
71087040547. 3
71087040548. 4

Question Number : 118 Question Id : 71087010156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Type of Orientation Example
A. Geographical Orientation  |I. Ideas that the exhibition is trying to

communicate

B. Intellectual Orientation I. Basic information about the subject
of an exhibition

C. Conceptual Orientation ll. The right frame of mind

D. Psychological Orientation  |IV. The layout of the exhibition

Choose the correct answer from the cptions given below:

1. A-1V, B-llI, C-lI, D-I
2. A-lll, B-1, C-1V, D-lI
3. A-IV, B-ll, C-1, D-1II
4, A-11, B-lll, C-1v, D-]
Options :
71087040549. 1
71087040550. 2
71087040551. 3
71087040552 4

Question Number : 118 Question Id : 71087010156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-IILC-I, D-1
ZA-ILB-LC-IV, D-II
3A-IVB-ILC-1, D-1I
4 A-ILB-HLC-IV, D-I
Options :

71087040549. 1
71087040550. 2
71087040551. 3
71087040552. 4

Question Number : 119 Question Id : 71087010157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Museum Pollutant Source

A. Hydrogen Sulphide |. Photocopier
B. Formaldehyde Il. Films

C. Ozone lIl. Rubber

D. Acetic acid IV. Adhesives

Choose the correct answer from the options given below:

1. A-lll, B-1V, C-1, D-I
2. A-l1l, B-11, C-IV, D-I
3. A-ll, B-11l, C-1, D-IV
4, A-lil, B-l, C-lI, D-IV
Options :
71087040553. 1
71087040554. 2
71087040555. 3
71087040556. 4

Question Number : 119 Question Id : 71087010157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-IV,C-I, D-II
ZA-ILB-ILC-IV, D-1
FA-ILB-ULE€E-|,D-IV
AA-ILB-LC-1II,L D-IV
Options :

71087040553. 1
71087040554. 2
71087040555. 3
71087040556. 4

Question Number : 120 Question Id : 71087010158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A. IGRMS, Bhopal I. Subordinate office of Govt. of India
B. National Museum, New Delhi |ll.Autonomous Body of Govt. of India
C. National Archives, New Delhi |lll. Attached office of Govt. of India
D. CSMVS, Mumbai IV. Board of Trustees

Choose the correct answer from the options given below:

1. A-ll, B-1, C-lll, D-1V
2. A-1, B-1ll, C-1V, D-II
3. A-l, B-1I, C-1I, D-IV
4. A-IV, B-l, C-lI, D-1I
Options :
71087040557. 1
71087040558. 2
71087040559. 3
71087040560. 4

Question Number : 120 Question Id : 71087010158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 @ gl -1 & 1y FAfed Sifo

gl -1 Ol -1

A S S HRTATY HUR |l YRd WROR &I AU SEiey
B. 1Y GYeTY, 73 fawcit I, HRd GIPR &1 Wad Ha™

C. TP AFCEITR, 715 fAwell |11, YRd PR Y Hag iy
D. Hl TH UH 41 Uy, ge3 v, T ded

id feu e fadeedl & € Wl IR g

TA-I,B=-C-1l, D-1IV
ZA-1,B-N,C-IV, D-I
3A-1,B-ILC-1Il, D-IV
4 A-IV,B-1LC-1II, D-1I
Options :

71087040557. 1
71087040558. 2
71087040559. 3
71087040560. 4

Question Number : 121 Question Id : 71087010159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Laws and Guidelines Concerns

A, Indian Treasure Trove Act, 1878 |I. Sexual Harassment of Women at
the workplace

B. RTI, 2005 IIl. Seeking Information from the
state by a citizen of india

C. RPWD Act, 2016 lll. A chance discovery of antiquity

D. Vishakha Guidelines IV. Persons with Disability

Choose the correct answer from the options given below:

1. A-ll, B-11l, C-1, D-IV
2. A-l, B-1Il, C-1V, D-I
3. A-lll, B-11, C-IV, D-I
4, A-ll, B-1v, C-lIl, D-]
Options :
71087040561. 1
71087040562. 2
71087040563. 3
71087040564. 4

Question Number : 121 Question Id : 71087010159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 @ gl -1 & 1y FAfed Sifo

gl -1 gl -1l

T 4 fegn Few WHR

A SfEEA TR CId e, 1878 || HRIRIE WR Afgeredl o1 4 3Iddisd
B. Yo & H¥BR gy, il YRAY AMR® gRI I 4 gl

2005 HATHI
C. AR U S=g S Uae, 2016 |l NIAx] B Hhieism @i
D. fa=ma fezmcEr V. SF=TaRIT dlel odfad

fafcied fasedl o 9 el 3w gHU

TLA-ILB-U.€-,D-IV
2ZA-ILB-U,C-IV, D-Il
FA-ILB-ILC-IV, D-1
4AA-ILB-IV,C-1ll, D-1I
Options :

71087040561. 1
71087040562. 2
71087040563. 3
71087040564. 4

Question Number : 122 Question Id : 71087010160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages in the organization of an educational exhibition, in order
A. Analyse the learning task of the exhibition

B. State the objectives of the exhibition

C. Test the design with a representative group sample

D. Design the instructional sequence and didactic material

Choose the correct answer from the options given below:

1.B.ADC
2CADB
3.B.D.CA
4D,C B A
Options :
71087040565. 1
71087040566. 2
71087040567. 3
71087040568. 4

Question Number : 122 Question Id : 71087010160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fRreror ueei & e & e fiRad wRuil ©1 %H Y saaieyd Sife ;
A TERHT o ST ey o1 faseuer

B. UGEt & 3530 &l §dH]

c. ufaFiea! & F5-1 9 & T8 SHfHdbed o giafu

D. RIS 9l 9 SGAED $H B HHdHd
Fafeiad fdeeal § ¥ 95l SR g ;

1.B A D,C
2CADB
3.B.D,C A
4.D,C B A
Options :
71087040565. 1
71087040566. 2
71087040567. 3
71087040568. 4

Question Number : 123 Question Id : 71087010161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Beginning of Public Museum

B. Beginning of Science and Technology Museum

C. Development of galleria

D. Origin of some of the great Art Collections

Choose the correct answer from the options given below:

1.ABCD
2B CDA
3.D,CAB

4 C B AD
Options :
71087040569. 1
71087040570. 2
71087040571. 3
71087040572. 4

Question Number : 123 Question Id : 71087010161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad ol Drers D o8 H gdyd difed ;
A, FIAGH® YR B BT

B. [a5= Ud dob-ilcs TUGId ol E3Td

. ol & faee

D. &S URE dhall YdaH| &l S
1 feu 7 famedl & O 981 3w 9y -

1A B CD
2B CD A
3.D,CAB

4. C B, A D
Options :
71087040569. 1
71087040570. 2
71087040571. 3
71087040572. 4

Question Number : 124 Question Id : 71087010162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the stages involved in organized museum visits of school children, in order
A. Orientation

B. Follow up

C. Scheduling

D. Learning activity

Choose the correct answer from the options given below:

1.C,B, D A
2CADB
3.CABD

4 A B CD
Options :
71087040573. 1
71087040574. 2
71087040575. 3
71087040576. 4

Question Number : 124 Question Id : 71087010162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Thl gl b YUEId & Gl & e § 2Hd fafis 90 &f HHER T ;
A, HTHEEHI
B. Hqadl drds

C. 999 gRUj S0
D. Ao Tidfare
Fafafad fasedl & ¥ U8l o= 9T

1.C,B, D A
2CADB
3.CABD

4. A B, C D
Options :
71087040573. 1
71087040574. 2
71087040575. 3
71087040576. 4

Question Number : 125 Question Id : 71087010163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Public Relations decisions in order
A. Implementing the PR Plan

B. Choosing the PR messages and vehicles

C. Establishing the PR objective

D. Evaluating the PR results

Choose the correct answer from the options given below:

1.C,B,A D
2B CAD
3.CD B A

4 A C DB
Options :
71087040577. 1
71087040578. 2
71087040579. 3
71087040580. 4

Question Number : 125 Question Id : 71087010163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. PR TIGH] & BT

B. PR 0¥ Ud HIGH

C. PR 3E¥0] B WY

D. PR URUTH T Hedich

i feu ¢ famedl # 9 wel I g :

1.C,B,AD
2B CAD
3.C,D,B A

4 A C DB
Options :
71087040577. 1
71087040578. 2
71087040579. 3
71087040580. 4

Question Number : 126 Question Id : 71087010164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages in the organisation of an educational exhibition in order
A. Design the instructional sequence and didactic materials

B. Analyse the learning task of the exhibition

C. Modify and produce

D. Test the design with a representative visitor group sample

Choose the correct answer from the options given below:

1.ADBC
22C, D B A
3.B.D.CA
4B ADC
Options :
71087040581. 1
71087040582. 2
71087040583. 3
71087040584. 4

Question Number : 126 Question Id : 71087010164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fareror vl & smaieH & RufaRad oo & $3 4 soafud Sifog
A. 3G H d &S aradl &1 sifdded
5. TR & e Teg o1 faveyur

C. ¥UI-d¥U d Jdlg

D. FHA1 wiaFfE 95 & 4 #f¥aed &1 gdiam
Fgifdd fameul & © T8l IR 9 -

1. A D B, C
2.C,D,B A
3.B.D,C A
4B A D C
Options :
71087040581. 1
71087040582. 2
71087040583. 3
71087040584. 4

Question Number : 127 Question Id : 71087010165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the basic phases in the record-keeping procedure, in order
A. Cataloguing

B. Decision to accept

C. Marking numbers

D. Record the artifact in Accession Register and assign a number
Choose the correct answer from the options given below:

1.B.D,C A
2B CDA
3.B.DAC

4 D,B A C
Options :
71087040585. 1
71087040586. 2
71087040587. 3
71087040588. 4

Question Number : 127 Question Id : 71087010165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HIYeRe- ST H HIURYd 901 DI o o aieyd &1 ;

A. @R
B. WIHR B+ @I g

C. GwT3it @1 3

D. URTEY Iorex H Seridld @ ificiRad $-1 § 9% 61
fFafeied famedl § 9 981 3w g

1.B.D,C A
2B CD A
3.B.D, A C
4.D,B A, C
Options :
71087040585. 1
71087040586. 2
71087040587. 3
71087040588. 4

Question Number : 128 Question Id : 71087010166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to National Disaster Management Guidelines for Museums, the assessment of
disaster risks follows the following procedure:

A. Identification of vulnerabilities

B. Assessment of degree of exposure

C. Identification of hazards

D. Prioritising risks on the basis of scale, frequency, probability and potential impact
E. Analysing potential impacts on lives, property and heritage value

Choose the correct answer from the options given below:

1.C,B,D A
2.B,DCA
3.D0,B A C

4. C, A B ED
Options :
71087040589. 1
71087040590. 2
71087040591. 3
71087040592. 4

Question Number : 128 Question Id : 71087010166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HggTerdl & fore APty ger Uy R e & SgER 3iual SifeH & Hiead & fig
fFrafeRed usia @1 sraR famar o & -

A. HE B UggH Bl

B. 3Rf&ddr @i f&3t &1 sfidpa

C. SIIRgH 1 Uga™ Bl

D. UHH, SRERAI, §HTEI], GHIIGd UHIE B H1YR R SIRGAT BT TrfHsd - &
E. SitaH, Huftl R tRigR Hed W YHIfdd WHIg &1 fa=ayo
Fafeiad fgeeal § 9 981 3w gHU

1.C,B,D A
2.B,DCA
3.D0,B A C

4. C, A B ED
Options :
71087040589. 1
71087040590. 2
71087040591. 3
71087040592. 4

Question Number : 129 Question Id : 71087010167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps involved in the decision-making process, in order:
A. Defining the Problem

B. Identifying the Criteria

C. Selecting Alternatives

D. Implementation

E. Developing Alternatives

Choose the correct answer from the options given below:

1.A B D, EC
2B AECD
3.3ABECD
4B EADC
Options :

71087040593. 1
71087040594. 2
71087040595. 3
71087040596. 4

Question Number : 129 Question Id : 71087010167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i ®x- @1 ulseal | 2MEd Hed! di HHER T ;
A. GHE B URHINT Bl

B. HHGUS & UgdH &l

C. fa®eal &1 9gH

D. feparagH

E. [Py A i¥d e
Fafeiad fgeeal § 9 981 3w gHU

1.A B, DEC
2.B.AECD
3ABECD
4B, EADC
Options :

71087040593. 1
71087040594. 2
71087040595. 3
71087040596. 4

Question Number : 130 Question Id : 71087010168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A Manuscript folio having holes, tears, acidity and bleeding ink would be treated in which
order:

A. Test pH of the folio

B. Leaf casting of the Manuscript

C. Fixation of ink

D. Removal of acidity

E. Mending of tear

Choose the correct answer from the options given below:

1.ACDEB
2.A B DCE
3.D,B,C AE
4B CADE
Options :

71087040597. 1
71087040598. 2
71087040599. 3
71087040600. 4

Question Number : 130 Question Id : 71087010168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uil gy | @&, Bed, Sidl aul el gx el & (v e § JUdrid fddl ST :
A. U§ & UIud &1 U180

B. GIUSATT &1 ol DI Bl

C. |1 i fthag Bl

D. ATl B GeH

E. T U & Go& Bl

- feu e famedl & 9 9l W g :

1.A CDEB
22ABDCE
3.D,B,C AE
4B, C A DE
Options :

71087040597. 1
71087040598. 2
71087040599. 3
71087040600. 4

Question Number : 131 Question Id : 71087010169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps involved in the mounting of small beetles, in order:
A. Boiling of the specimen in KOH

B Placement in between glass slides

C. Dipping in acetic acid

D. Mounting in Canada Balsam

E. Washing in distilled water

Choose the correct answer from the options given below:

1.A B CD,E
2ACDEB
32AEBCD
4EABCD
Options :

71087040601. 1
71087040602. 2
71087040603. 3
71087040604. 4

Question Number : 131 Question Id : 71087010169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Bic diel Bl Wizs R FHH @) H 2iad ool of SHHER Hafyd Hifo ;
A. T DI & Al T (KoH) 8 JareHT

8. Bid @ W5S] & §g TGl
C. ufgfes US| gam

D. BAS] aTH H oM

E. URspd oe H 4T
1 feu 7 fasedl # 9§ 98l S 9 -

1.A B CD,E
2ZACDEB
3AEBCD
4. E A B CD
Options :

71087040601. 1
71087040602. 2
71087040603. 3
71087040604. 4

Question Number : 132 Question Id : 71087010170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The staff structure of a museum should emphasize the interests of the
organization and also take into account the needs of staff development.

Reason R: So that staff remains motivated by promotion opportunities and realizes
their potential for the benefit of the organization.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040605. 1

71087040606. 2

71087040607. 3

71087040608. 4

Question Number : 132 Question Id : 71087010170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g

HHGYA (A) : GIETd DI B G941 § G164 & feal U 94 1641 9H] 9lied 3 @16 o™
D1 Mg ®f i & § war 91 9riet|

dd (R) ; it TP GaidTd & fauRl ¥ URd I8 3R W16 & ardrd g Fura-1si ol Beiyd
T gD |

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. (A) 3R (R) GFT WET § 1R (R), (A) BT U5l ARBNG1
2. (A) 3R (R) TIFT W&l © U (R), (A) 1 el o1 Tel &
3. (A) TE1 8 R (R) TE1 T &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087040605. 1

71087040606. 2

71087040607. 3

71087040608. 4

Question Number : 133 Question Id : 71087010171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Learning in Museums is non-threatening and the learner is non-captive
Reason R: Learning in Museum is a type of Formal Education
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040609. 1

71087040610. 2

71087040611. 3

71087040612. 4

Question Number : 133 Question Id : 71087010171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl oy fRu TR : U@ o fi®YA (4) iR g @I a& (R) Tel T |
HH@YH (A) : GUETEE H I IR-4H®! qUf g R Randf TR-3mes g
a® (R) : TIBIAY H o 0P UPR &) uaie 2a1 6

SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

(A) 3R (R) THT T € 3R (R), (A) BT Te! ARS8

(A) 3R (R) GFT 81 & U (R), (A) DI e ATRHAT 761 ¢

(A)

(

A) TE1 & IR (R) Fe el ¢
(A) e el & IRg (R) T &
Options :

71087040609. 1

71087040610. 2

71087040611. 3

71087040612. 4

1.
2.
3.
4.

Question Number : 134 Question Id : 71087010172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If the ideal range of temperature and RH cannot be met in collection stores, the
emphasis should be on a stable environment.

Reason R: A stable environment will protect the collection from all factors of detericration.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040613. 1

71087040614. 2

71087040615. 3

71087040616. 4

Question Number : 134 Question Id : 71087010172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g

3T (a) : Ot GTEUT©R F 362l aumd SR 3MRTF (RH) @1 Ofd el 81 God df faR
TaiaRl O SR f&ar o ane

a® (R) : T 1R JUIaRul €95 ol f[dpid & 9l Ro! ° GRET DT
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GFT WET § 1R (R), (A) BT U5l ARBNG1
2. (A) 3R (R) TIFT W&l © U (R), (A) 1 el o1 Tel &
3. (A) TE1 8 R (R) TE1 T &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087040613. 1

71087040614. 2

71087040615. 3

71087040616. 4

Question Number : 135 Question Id : 71087010173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: While doing consumer research, primary data is collected before collecting
secondary data.

Reason R: The secondary data can partly answer the research problem at hand.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040617. 1

71087040618. 2

71087040619. 3

71087040620. 4

Question Number : 135 Question Id : 71087010173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g

HYHU (A) : STHIE Y B & GRH [Gadd Hds! & UhHd B4 ° Ugd UfEs si@st
@I ToHd fdedr 9l 5

d® (R): Tadiam ofidrs o1y H Hig 1Y THH] &1 HiRS 3 ¢ 9ol g
Sudad @yl & Hae | Fgifed Geadl § § gaifde Suged S g -
1. (A) AR (R) GHIT el € 1R (R), (4) BT Tgl ARATE1

2. (A) 37R (R) GIFl ¥el 8 U (R), (A) BT e ouredT ol &

3. (A) T§1 8 TG (R) ¥l Tel &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087040617. 1

71087040618 2

71087040619. 3
71087040620. 4

Question Number : 136 Question Id : 71087010174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Geographical orientation is important psychologically

Reason R: Because people who know where they are, tend to be more confident, more relaxed
and receptive.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040621. 1

71087040622. 2

71087040623. 3

71087040624. 4

Question Number : 136 Question Id : 71087010174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g
SHTHEHY (A) ; HFTITES SAEETE FHida-® &0 § gew@dd & |

dd (R) ; TiTd6 d AN S oI & b d 8l & dl 31 AP AT B @ g HIUS a-1d qad g
JEUIRiTe §H &1 SHE gial g

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GFT WET § 1R (R), (A) BT U5l ARBNG1
2. (A) 3R (R) TIFT W&l © U (R), (A) 1 el o1 Tel &
3. (A) TEl & TR (R) TE! T

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087040621. 1

71087040622. 2

71087040623. 3

71087040624. 4

Question Number : 137 Question Id : 71087010175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Accession register should be bound and in hardback format
Reason R: It is an administrative document
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040625. 1

71087040626. 2

71087040627. 3

71087040628. 4

Question Number : 137 Question Id : 71087010175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HIHDYA (A) TRTTY IR D PHoR (319) 31eY F §41 B4 A1iey)
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1. (A) 3R (R) GHI U8l § 3R (R), (4) $I el AAT B
2. (A) 3R (R) SHT T8l & IR (R), (A) B Tel oI 781 o
3. (A) Hel & T (R) Hel Tel ¢
4. (A) T8I 781 € IXg (R) Wel ¢



Options :

71087040625. 1
71087040626. 2
71087040627. 3
71087040628. 4

Question Number : 138 Question Id : 71087010176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Alkaline buffered archival paper is not to be used with wool, silk and parchment
Reason R: Alkaline buffers produce accretions on the surface of woaol, silk and parchment.
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040629. 1

71087040630. 2

71087040631. 3

71087040632. 4

Question Number : 138 Question Id : 71087010176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) 31R (R) GHI G&1 & U (R), (A) B Yo odre] Tl o
3. (A) 981 & TR (R) ¥ol Te! &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087040629. 1

71087040630. 2

71087040631. 3

71087040632. 4

Question Number : 139 Question Id : 71087010177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the examination of cil paintings, X-ray radiography is considered a useful tool
Reason R: As the use of X-ray radiography does not involve any sampling from the painting.
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

71087040633. 1
71087040634. 2
71087040635. 3
71087040636. 4

Question Number : 139 Question Id : 71087010177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040633. 1

71087040634. 2

71087040635.3

71087040636. 4
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Question Number : 140 Question Id : 71087010178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Principle of Minimum Intervention is one of the tenets of Ethics of
Conservation agreed to by most of the conservation professionals

Reason R: Because minimum intervention not only saves money but also precious time
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040637. 1

71087040638. 2

71087040639. 3

71087040640. 4

Question Number : 140 Question Id : 71087010178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. (A) 981 & TR (R) ¥ol Te! &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087040637. 1

71087040638. 2

71087040639. 3

71087040640. 4

Sub-Section Number : 2
Sub-Section Id : 710870273
Question Shuffling Allowed : Yes

Question Id : 71087010179 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the given passage and answer the questions that follow:

4 team headed by artist Vivek discovered Jangarh along with one more villager Teerath Singh
Marawi. Both of them were escorted to nearby Mandla by train to avail them of better painting
materials. Traumatized by the journey, Teerath ran back midway to the village, while Jangarh
endured it to experience his first brush with bright synthetic colours- the touch of which sent
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Bhopal he finally met Swaminathan and expressed his desire to migrate there with his wife. He
was given a job at the painting workshop in Bharat Bhavan where he learnt the technigues of
silk-screening, etching and other mechanical reproduction methods. He continued to make
paintings with acrylic colours on canvas alongside improvised silk-screen prints in his after-
hours from work. He was barely past seventeen when his first-ever artworks were displayed in
galleries alongside eminent professional artists. 'Bharat Bhavan's Indian Contemporary Art'
exhibition consistently featured his weorks alongside modern urban masters from 1983 to 1991.
Jangarh became particularly popular for his portrayal of Gond deities who resided formlessly
in every nook and corner of Patangarh and so his art was generally known as Gond art,
especially after many of his family members took it up after him. His interaction with other
tribal and folk artists, including an exchange program with Australian aboriginal artists,
became part of his education after Bharat Bhavan. He was constantly experimenting with
forms and materials all along. Before he was 37, Jangarh had not only won the highest state
henor, Shikar Samman, but also been included in the exhibition at the New Delhi Crafts
Museum 'Other Masters', titled and curated by Jyotindra Jain. Even as he was honored as a
'master’, his was a case of consistent success till the peak of his career which still held
tremendous possibilities for further growth and maturation. His attainment or 'mastery’ seems
to forebode a premature conclusion of his art as having attained its logical maturity. At this
juncture, he was invited as a painter-in-residence for a three-month stay in a Japanese
museum for Indian Folk Arts, for an extremely nominal honorarium of around twelve thousand
rupees by its director Tokio Hasegawa.' But in Japan his passport was with-held, stay extended,
and he was put under pressure to produce more than he was inspired to paint. Not knowing
any language to communicate in Japan, left to fend for his rights all by himself in an alien
country where even catching a train was an impossible task for him, depressed and lonely, he
repeatedly wrote to his wife in Gondi to avoid interception, and begged her to arrange for his
return. And finally, he killed himself in that museum inside the Living Museum of Asia, the land
of the glorified hara-kiri.

Sub questions



Question Number : 141 Question Id : 71087010180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Land of glorified Hari-Kiri in the text refers to:

1. Japan

2. India

3. Patangarh
4. Bhopal
Options :
71087040641. 1
71087040642. 2
71087040643. 3
71087040644. 4

Question Number : 142 Question Id : 71087010181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jangarh wrote to his wife in which language?

1. Maithali

2. Japanese

3. Gondi

4, Hindi
Options :
71087040645. 1
71087040646. 2
71087040647. 3
71087040648. 4

Question Number : 143 Question Id : 71087010182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was the other artist beside Jangarh, who was discovered by the team headed by Vivek?

1. Jyotindra Jain

2. Teerath Singh Marawi
3. Verrier Elwin

4. J. Swaminathan
Options :

71087040649. 1
71087040650. 2
71087040651. 3
71087040652. 4

Question Number : 144 Question Id : 71087010183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Other Masters' exhibition was curated by:

1. J. Swaminathan
2. Verrier Elwin

3. Jangarh

4. Jyotindra Jain
Options :
71087040653. 1
71087040654. 2
71087040655. 3
71087040656. 4

Question Number : 145 Question Id : 71087010184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Jangarh committed suicide because:

1. His passport was with held

2. His stay was extended

3. He could not speak Japanese
4. All of the above

Options :

71087040657. 1

71087040658. 2

71087040659. 3

71087040660. 4

Question Id : 71087010179 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087010180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

iU ¥ Ulg SRI-GH & Sx &l fpud Tew -

1. WU+

2. Hd

3. UIdTe

4, Higre
Options :
71087040641. 1



71087040642. 2
71087040643. 3
71087040644. 4

Question Number : 142 Question Id : 71087010181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SITG A [ HIET § 30T Ul &1 forn 7

1. T
3. o)
4. fe=l

Options :

71087040645. 1
71087040646. 2
71087040647. 3
71087040648. 4

Question Number : 143 Question Id : 71087010182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. TRYIE ARME
3. IR T
4, S YA
Options :
71087040649. 1
71087040650. 2
71087040651. 3
71087040652. 4




Question Number : 144 Question Id : 71087010183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Y HANGRG (3 HReY) UERH! foryds a1 #gee &1l 7

1. S, WA
2. INTR s
3. vig

4, SIE oA
Options :
71087040653. 1
71087040654. 2
71087040655. 3
71087040656. 4

Question Number : 145 Question Id : 71087010184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. 391 Uary wef faar |
3. 98 g1 YTHT el &id gl T
4, 3uad |
Options :
71087040657. 1
71087040658. 2
71087040659. 3
71087040660. 4
Sub-Section Number : 3
Sub-Section Id : 710870274
Question Shuffling Allowed : Yes




Question Id : 71087010185 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage and answer the questions that follow

We have to accept that a certain amount of damage is caused by the very act of display as we
can not eliminate visible radiation altogether. However, the damage to museum objects can be
reduced to a minimum by planning the lighting arrangements carefully and working out a
compromise between the two incommensurable factors; the proper viewing of the objects and
the damage caused by light.

Artists have done their objects with extreme delicacy and it is most important that they are
seen without distortion. Since the appreciation of museum objects is mediated mainly through
our eyes, any sacrifice in illumination at the cost of poor viewing, must be considered very
seriously. In limiting the brightness of museum lighting we have to see the effect of
illumination level on our ability to see small but significant differences in form and colour.
Precisely we need to know the effects of an illuminant on:

a. Visual acuity i.e ability to see and,
b. Colour discrimination

Neither of the above two aspects are likely to be at its best howsoever the museum gallery is
lit. But it could also be said that an object will look better in some lighting situations than in
others, so we have to find out the best possible situation. Extensive researches have been done
in this field and it has been concluded that colour discrimination falls off at less than 30 lux
illumination intensity but much higher levels have been proposed for full appreciation.

Now guestion is whether such higher levels are necessary if the observer's eyes are fully
adapted to the level of 30 lux and is not distracted by other higher levels? Answer will be

o am



e .

A good deal of scientific work has been done to establish the minimum and maximum levels
of light intensity for the illumination of different museum objects. The general opinion is that
the maximum level of illumination for susceptible materials should not exceed 50 lux, which is
not too low. For more stable objects higher levels of illumination are recommended.

Sub questions

Question Number : 146 Question Id : 71087010186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Display of museum objects lead to damage due to:

1. Complete elimination of visible radiation
2. Complete elimination of UV readiation
3. Complete elimination of IR radiation

4. Presence of visible radiation

Options :

71087040661. 1

71087040662. 2

71087040663. 3

71087040664. 4

Question Number : 147 Question Id : 71087010187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



It is possible to reduce damage due to illumination of objects by:

1. Viewing the objects with distortion

2. Viewing the objects by limiting the brightness
3. Viewing the objects in dark

4. Viewing the objects below 30 lux

Options :

71087040665. 1

71087040666. 2

71087040667. 3

71087040668. 4

Question Number : 148 Question Id : 71087010188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The unit for measurement of illumination intensity is:

1. Lux

2. uw/m?

3. Kelvin

4. Candela
Options :
71087040669. 1
71087040670. 2
71087040671. 3
71087040672. 4

Question Number : 149 Question Id : 71087010189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Colour discrimination will fall at:

1. 25 lux
2. 30 lux
3. 35 lux
4, 40 lux
Options :
71087040673. 1
71087040674. 2
71087040675. 3
71087040676. 4

Question Number : 150 Question Id : 71087010190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The general opinion for maximum level of illumination for susceptible material is:

1. 30 lux

2. 50 lux

3. Above 50 lux
4,0 lux
Options :
71087040677. 1
71087040678. 2
71087040679. 3
71087040680. 4

Question Id : 71087010185 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087010186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GUeIad o aegall & UG- & BRU a&g3 @ MEiigd & ha @y &lfd Ugddi & :

1. Wegel fafsor o guiaar g
2. gdi fafdor ot guiaar gaift

3. A2 SR fafchzur &1 guiqar gaiftd
4, U fafeeur ot Jufdufd
Options :

71087040661 1

71087040662. 2

71087040663. 3

71087040664. 4

Question Number : 147 Question Id : 71087010187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. T 3! [Gfa & Oy cEd

2. THS I DH B A DI ¢F B

3. SR H aegell @l oE B

4. TG DI 30 TIH U HH U 18071 H ¢@ B
Options :

71087040665. 1

71087040666. 2

71087040667. 3

71087040668. 4

Question Number : 148 Question Id : 71087010188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

UebTl JIE0aT B /I SHTs & -

1. T

2 pw / m-<

3. Picad

4, el
Options :
71087040669. 1
71087040670. 2
71087040671. 3
71087040672. 4

Question Number : 149 Question Id : 71087010189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TIgYgeH HEfeiad W &4 g1 g .

1. 25 ¢ldd

2. 30 T
3.35 T
4,40 o
Options :
71087040673. 1
71087040674. 2
71087040675. 3
71087040676. 4

Question Number : 150 Question Id : 71087010190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TP Hdgiia 9rl & L UH= & HUdhad Tk & U M I 6 :

1. 30 TR

2. 50 g

3.50 TR & HW
4.0 d&d

Options :
71087040677. 1
71087040678. 2
71087040679. 3
71087040680. 4



